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Koy Wil 7. 00 3. 00 2. 00 0.75 100. 0 0.0 0.0 100. 0 1,409.0|7 A7 7 )L sk
64. 5 2 ~ 64. 6 1 7.00 7.00 0.75

Koy Wil 7.00 2.50 2. 00 0.75 100. 0 0.0 0.0 100. 0 1,509.0|7 A7 7 )L sk
64. 6 1~ 64. 7 1 7.00 7.00 0.75

Koy Wil 8. 50 3. 00 2. 00 0.75 100. 0 0.0 0.0 100. 0 1,609.0|7 A7 7 )L sk
64. 7 1 ~ 64. 8 1 7.00 8. 00 0.75

Koy Wil 7. 00 3.50 2. 00 1.25 100. 0 0.0 0.0 100. 0 1,709.0|7 A7 7 )L sk
64. 8 1 ~ 64. 9 1 7.00 7.00 1.25

Koy Wi 7.00 3.50 2. 00 1.25 100. 0 0.0 0.0 100. 0 1,809.0|7 A7 7 )L sk
64. 9 1 ~ 65. 0 2 7.00 7.00 1.25

Koy Wil 7.00 3.55 1.95 1.35 100. 0 0.0 0.0 100. 0 1,909.0|7 A7 7 )L sk
65. 0 2 ~ 65. 1 2 7.00 2. 00 1.55

Koy Wil 7. 00 3.50 1. 40 0.70 100. 0 0.0 0.0 100. 0 2,009. 0|7 A7 7 )L Fagdk
65. 1 2 ~ 65.1 102 7.00 4. 00 0.75

Koy Wi 7.00 6. 25 0. 00 0.75 100. 0 0.0 0.0 100. 0 2,109.0|7 A7 7 )L Faidk
65.1 102 ~ 65. 3 4 7.00 9.25 0.75

Koy Wi 7.00 2. 00 3. 00 0.75 100. 0 0.0 0.0 100. 0 2,209. 0|7 A7 7 )L Fadk
65. 3 4 ~ 65. 4 5 7.00 2. 00 0.75

Koy Wi 7.00 2. 00 2.85 0.75 100. 0 0.0 0.0 100. 0 2,309. 0|7 A7 7 )L Fadk
65. 4 5 ~ 65.5 4 7.00 1. 50 0.75

Koy Wil 7.00 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 2,409. 0|7 A7 7 )L Fadk
65. 5 4 ~ 65. 6 4 7.00 3. 00 0.75

Koy Wil 7. 00 3. 00 0. 00 1.25 -10.9 0.0 60. 9 50.0 2,459. 0|7 A 7 7 )L Madk
65. 6 4 ~ 65. 6 54 7.00 3. 00 1.25

Koy Wi 7. 00 3. 00 1.50 1.25 61.0 0.0 0.0 61.0 2,520. 0|7 A7 7 )L Madk
65. 6 54 ~ 65. 7 15 7.00 3. 00 1.25

Koy Wil 7. 00 3. 00 1.50 1.25 107.0 0.0 0.0 107.0 2,627.0|7 A7 7 )L Fadk
65. 7 15 ~ 65. 8 22 7.00 2. 00 1.25
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Koy Wil 7. 00 3. 00 0. 00 -0.3 63. 63. 2,690. 0|7 A7 7 )L Fadk
65.8 22 65. 85 7.00 3. 00

Koy Wil 7.00 3. 00 1.50 119.0 0. 119. 2,809. 0|7 A7 7 )L Fadk
65.8 85 66. 4 7.00 3. 00

Koy Wil 7.00 3. 00 0. 00 31.9 78. 110. 2,919.0|7 A7 7 )L Faidk
66. 0 4 66. 14 7.00 3. 00

Koy Wil 7. 00 3. 00 1.50 78.0 0. 78. 2,997. 0|7 A7 7 )L sk
66. 1 14 66. 92 7.00 2. 00

Koy Wi 7.00 3. 00 0. 00 112.0 0. 112. 3,109. 0|7 =2 7 7 v ik
66. 1 92 66. 3 7.00 3. 00

Koy Wil 7.00 3. 00 0. 60 100. 0 0. 100. 3,209.0[ 7 2 7 7 v ik
66. 3 3 66. 3 7.00 6. 40

Koy Wil 7. 00 3. 00 1.50 100. 0 0. 100. 3,309.0[7 %2 7 7 v ik
66. 4 3 66. 3 7.00 3. 00

Koy Wi 7.00 4.50 1.50 100. 0 0. 100. 3,409. 0| 7 =2 7 7 v ik
66. 5 3 66. 1 7.00 3. 00

Koy Wi 7.00 3.50 1.50 100. 0 0. 100. 3,509. 0|7 %2 7 7 v ik
66. 6 1 66. 1 7.00 3. 00

Koy Wi 7.00 3. 00 1.50 100. 0 0. 100. 3,609.0[ 7 %2 7 7 )L ik
66. 7 1 66. 2 7.00 3. 00

Koy Wil 7.00 3. 00 1.50 100. 0 0. 100. 3,709.0[ 7 %2 7 7 v ik
66. 8 2 66. 102 7.00 3. 00

Koy Wil 7. 00 3. 00 1.65 100. 0 0. 100. 3,809.0[7 %2 7 7 v ik
66. 9 0 67. 3 7.00 3. 00

Koy Wi 7. 00 4. 00 1.10 100. 0 0. 100. 3,909. 0| 7 %2 7 7 v ik
67.0 3 67. 3 7.00 3. 00

Koy Wil 7. 00 4.10 0. 00 100. 0 0. 100. 4,009. 0|7 A7 7 )L Fadk
67. 1 3 67. 3 7.00 2. 00
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Koy Wil 7. 00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,109. 0|7 27 7 /L ik
67. 2 3 ~ 67.3 4 7.00 3. 00 1.25

Koy Wil 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,209. 0|7 A7 7 /L ik
67.3 4 ~ 67. 4 5 7.00 3. 00 1.25

Koy Wil 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,309. 0|7 A7 7 /L ik
67. 4 5 ~ 67.5 5 7.00 3. 00 1.25

Koy Wil 7. 00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,409. 0|7 A7 7 /L ik
67.5 5 ~ 67.6 5 7.00 3. 00 1.25

Koy Wi 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,509. 0|7 A7 7 /L ik
67.6 5 ~ 67.7 3 7.00 3. 00 1.25

Koy Wil 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,609. 0|7 A7 7 /L ik
67.7 3 ~ 67.8 5 7.00 3. 00 1.25

Koy Wil 7. 00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,709.0|7 A7 7 /L ik
67.8 5 ~ 67.9 4 7.00 3. 00 1.25

Koy Wi 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,809. 0|7 A7 7 /L ik
67.9 4 ~ 68. 0 3 7.00 3. 00 1.25

Koy Wi 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 4,909. 0|7 A 7 7 /L ik
68. 0 3 ~ 68. 1 4 7.00 3. 00 1.25

Koy Wi 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 5,009. 0|7 % 7 7 /L %k
68. 1 4 ~ 68. 2 3 7.00 3. 00 1.25

Koy Wil 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 5,109. 0|7 %X 7 7 /L [k
68. 2 3~ 68. 3 3 7.00 3. 00 1.25

Koy Wil 7. 00 3. 00 2. 00 1.00 100. 0 0.0 0.0 100. 0 5,209. 0|7 % 7 7 /L ik
68. 3 3 ~ 68. 4 2 7.00 3. 00 1. 00

Koy Wi 7. 00 3. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 5,309. 0|7 %X 7 7 /L %k
68. 4 2 ~ 68. 5 3 10. 00 3. 00 0.75

Koy Wil 10. 00 3. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 5,409. 0|7 % 7 7 /L [k
68. 5 3 ~ 68. 6 5 7.00 3.78 0. 85
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Koy Wil 7. 00 3. 00 2.20 0.95 100. 0 0.0 0.0 100. 0 5,509. 0|7 % 7 7 /L %k
68. 6 5 ~ 68. 7 4 7.00 3. 00 0. 95

Koy Wil 7.00 3. 00 1.50 7. 00 100. 0 0.0 0.0 100. 0 5,609. 0|7 %X 7 7 /L L%k
68. 7 4 ~ 68. 8 4 7.00 3. 00 7.00

Koy Wil 7.00 3. 00 1.50 1.25 37.0 0.0 0.0 37.0 5,646. 0|7 X 7 7 /L [afidk
68. 8 4 ~ 68.8 41 7.00 3.90 1.25

Koy Wil 7. 00 3. 00 0. 00 1.25 0.0 0.0 40. 0 40.0 5,686. 0|7 % 7 7 /L %k
68.8 41 ~ 68.8 81 8. 00 3. 00 1.25

Koy Wi 7.00 3. 00 1.50 1.25 23.0 0.0 0.0 23.0 5,709. 0|7 % 7 7 /L %k
68.8 81 ~ 68. 9 4 7.00 3.90 1.25

Koy Wil 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 5,809. 0|7 % 7 7 /L %k
68. 9 4 ~ 69. 0 10 7.00 3. 70 1.25

Koy Wil 7. 00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 5,909. 0|7 %X 7 7 /L [k
69. 0 10 ~ 69. 1 4 7.00 3. 00 1.25

Koy Wi 7.00 3. 00 1.50 1.25 30.0 0.0 0.0 30.0 5,939. 0|7 X 7 7 /L [k
69. 1 4 ~ 69. 1 34 7.00 3. 00 1.25

Koy Wi 7.00 2.50 0. 00 0.75 0.0 0.0 205. 0 205. 0 6, 144. 0|7 A 7 7 /L ik
69. 1 34 ~ 69.3 42 7.00 2. 50 0.75

Koy Wi 7.00 2.50 0. 00 0.75 61.0 0.0 0.0 61.0 6, 205. 0|7 2 7 7 /L ik
69.3 42 ~ 69. 4 2 7.00 2. 50 0.75

Koy Wil 7.00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 6, 305. 0|7 2 7 7 /L il
69. 4 2 ~ 69. 5 1 7.00 3. 00 1.25

Koy Wil 7. 00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 6, 405. 0|7 A 7 7 /L ik
69. 5 1~ 69. 6 2 7.00 3. 00 1.25

Koy Wi 7. 00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 6, 505. 0|7 A 7 7 /L il
69. 6 2 ~ 69. 7 2 7.00 3. 00 1.25

Koy Wil 7. 00 3. 00 1.50 1.25 100. 0 0.0 0.0 100. 0 6, 605. 0|7 A 7 7 /L [afidk
69. 7 2 ~ 69. 8 2 7.00 3. 00 1.25
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Koy Wil 7. 00 4.15 2.25 100. 0 0. 100. 6,705. 0|7 A7 7 )L sk
69. 8 2 69. 3 7.00 4.95

Koy Wil 7.00 3.25 0. 00 100. 0. 100. 6,805. 0|7 A7 7 )L ik
69. 9 3 70. 2 7.00 4. 80

Koy WFeihi 7.00 5.15 1.25 100. 0. 100. 6,905. 0|7 A7 7 )L sk
70. 0 2 70. 1 7.00 5. 00

Koy WFeihi 7. 00 5. 00 0. 00 100. 0. 100. 7,005. 0| 7 2 7 7 v ik
70. 1 1 70. 1 10. 00 5. 05

Koy gt 9. 65 5.15 0. 00 100. 0. 100. 7,105. 0| 7 2 7 7 v ik
70. 2 1 70. 100 7.00 5. 00

Koy gt 7.00 5.15 0. 00 100. 0. 100. 7,205.0[ 7 2 7 7 v ik
70. 3 0 70. 100 7.00 5. 10

Koy WFeihi 7. 00 5. 00 0. 00 100. 0. 100. 7,305. 0| 7 2 7 7 v ik
70. 4 0 70. 1 7.00 5. 00

Koy WFeihi 7.00 5. 00 1.50 100. 0. 100. 7,405. 0| 7 2 7 7 v ik
70.5 1 70. 1 7.00 5. 00

Koy WFeihi 7.00 5. 00 1.50 64. 15. 80. 7,485. 0|7 2 7 7 v ik
70. 6 1 70. 81 7.00 5. 00

Koy WFeihi 7.00 5. 10 1.50 16. 0. 16. 7,501. 0| 7 2 7 7 v ik
70.6 81 70. 97 7.00 5. 00

Koy gt 7.00 5. 00 1.50 104. 0. 104. 7,605. 0| 7 2 7 7 v ik
70.6 97 70. 2 7.00 5. 00

Koy gt 7. 00 5. 50 1.50 108. 0. 108. 7,713. 0| 7 2 7 7 v ik
70. 8 2 70. 11 7.00 5. 00

Koy WFeihi 7. 00 5. 00 0. 00 103. 0. 103. 7,816.0[ 7 %2 7 7 v ik
70.9 11 71. 14 9. 00 5. 00

Koy WFeihi 9. 00 5. 00 1.50 139. 0. 139. 7,955. 0| 7 2 7 7 v ik
71.0 14 71. 52 7.00 5. 00
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Koy et 7.00 3. 2. 00 160. 0 0.0 9, 208. O|HE/K MEAHES
72.2 40 7.00 3.

Koy e 7.00 3. 2. 00 100. 0.0 9, 308. O|HE/K MEAHEE
72.4 0 7.00 3.

Koy et 7.00 3. 2. 00 100. 0.0 9, 408. O|HE/K MEAHES
72.5 0 7.00 3.

Koy e 7.00 3. 2. 00 100. 0.0 9, 508. O|HE/K MEAfEE
72.6 0 7.00 3.

Koy et 7.00 3. 2. 00 100. 0.0 9, 608. O|HE/K MEAHEE
72.7 0 7.00 3.

Koy et 7.00 3. 2. 00 125. 0.0 9, 733. O|HE/K MEAHES
72.7 100 7.00 3.

Koy Wi 7. 00 3. 2. 00 0.0 9, 808. O[HE7K Mkt
72.9 20 7.00 3.

Koy e 7.00 3. 2. 00 107. 0.0 9, 915. O|HE/K MEAHES
73.0 0 7.00 3.

Koy Wi 7.00 3. 2. 00 0.0 9, 980. 0 [HE7K Mk
73.1 0 7.00 3.

Koy e 7.00 3. 2. 00 135. 0.0 10, 115. O| Bk A%
73.1 65 7.00 5.

Koy e 7.00 4. 2. 00 100. 0.0 10, 215. 0| lzk A%
73.3 0 7.00 5.

Koy Wserfi 7. 00 3. 2. 00 0.0 10, 257. O| Pk P4 ds
73.4 5 7.00 3.

Koy Wi 7. 00 3. 2. 00 0.0 10, 347. O PEAK P4 %s
73.4 47 7.00 3.

Koy Rerfi 7. 00 3. 2. 00 0.0 10, 445. 0| PEzK 4%
73.5 40 7.00 3.
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Koy Wi 3.25 2. 0. 00 0.0 11, 703. O Pk P4 d
74.8 3.25 2.
Koy Wi 3.25 2. 0. 00 0.0 11, 803. O] Pk P4 %
74.9 3.25 2.
Koy Wi 3.25 3. 0. 00 0. 0.0 11, 921. O Pk P4 d
75.0 3.25 2. 0.
Koy Wi 3.25 2. 0. 00 0. 0.0 12, 003. O] Pk P4 %s
75. 1 20 3.25 2. 0.
Koy Wi 3.25 2. 0. 00 0. 0.0 12, 063. O| Pk 4%
75.2 3.25 2. 0.
Koy Bt 3.25 2. 0. 00 0. 0.0 12, 203. O| Pk P4 %
75.2 61 3.25 2.
Koy Wi 3.25 2. 0. 00 0. 0.0 12, 291. O| Pk P4 ds
75. 4 3.25 2. 0.
Koy Wi 3.25 2. 0. 00 0. 0.0 12, 403. O Pk P4 %
75.4 90 3.25 2. 0.
Koy Wi 3.25 2. 0. 00 0. 0.0 12, 503. O| Pk P4 d
75.6 3.25 2. 0.
Koy Wi 3.25 2. 0. 00 0. 0.0 12, 603. O] Pk 4%
75.7 3.25 1. 0.
Koy e 3.25 2. 0. 00 0. 0.0 12,681. 0|7 2 7 7 /L ik
75.7 100 3.25 2. 0.
Koy e 3.25 2. 0. 00 0. 0.0 12,789. 0|7 A 7 7 /L ik
75.8 17 3.25 2. 0.
Koy e 3.25 2. 0. 00 0. 0.0 12,903. 0|7 2 7 7 /L ik
75.9 86 3.25 2. 0.
Koy R 3.25 2. 0. 00 0. 0.0 13, 003. 0|7 2 7 7 /L &%k
76. 1 3.25 2. 0.
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Koy WFeihi 3.25 0.00 0.00 0.50 100.0 0.0 0.0 100.0[  13,103.0[7 %2 7 7 v s
76. 2 0 ~ 76.2 100 3.25 0. 00 0. 50

Koy WFeihi 3.25 1.75 0.00 0.50 101.0 0.0 0.0 101.0[  13,204. 0|7 2 7 7 )L s
76. 3 0 ~ 76.3 101 3.25 2. 00 0. 50

Koy WFeihi 3.25 1.55 0.00 0.75 100.0 0.0 0.0 100. 0  13,304. 07 2 7 7 v &k
76. 4 0 ~ 76.4 100 3.25 2. 00 0.75

Koy WFeihi 3.25 2.10 0.00 2.00 123.0 0.0 0.0 123.0(  13,427.0[7 2 7 7 v &k
76.5 0 ~ 76. 6 20 3.25 2.25 2. 00

Koy gt 3.25 1.80 0.00 1.00 95.2 0.0 4.8 100. 0  13,527.0[7 2 7 7 v Ak
76. 6 20 ~ 76.6 120 3.25 2. 00 1.00

Koy gt 3.25 2.25 0.00 0.75 78.0 0.0 0.0 78.0 13,605.0[7 A2 7 7 /L &%k
76.6 120 ~ 76. 7 98 3.25 2.20 1.25

Koy WFeihi 3.25 2.00 0.00 0.75 95.2 0.0 4.8 100. 0  13,705. 07 %2 7 7 v &k
76. 7 98 ~ 76. 9 4 3.25 2.28 0.75

Koy WFeihi 3.25 2.00 0.00 0.50 100.0 0.0 0.0 100.0[  13,805. 07 %2 7 7 L s
76. 9 4 ~ 76.9 104 3.25 2. 00 0. 50

Koy WFeihi 3.25 2.00 0.00 0. 60 92.7 0.0 7.3 100.0| 13, 905. O|HE/K P&z
76.9 104 ~ 77.0 97 3.25 2. 50 0. 50

Koy WFeihi 3.25 2.00 0.00 0.50 100.0 0.0 0.0 100.0| 14, 005. O|HE/K P&z
77.0 97 ~ 77.2 2 3.25 2. 50 0. 50

Koy gt 3.25 2.00 0.00 0. 50 100.0 0.0 0.0 100. 0 14, 105. 0|7 2 7 7 )L s
77.2 2 ~ 77.3 5 3.25 2. 00 0. 50

Koy gt 3.25 1.90 0.00 0.50 99. 0 0.0 0.0 99.0| 14, 204. O|HE/K PEAfEE
77.3 5 ~ 77.3 104 3.25 1.85 0. 50

Koy WFeihi 3.25 2.50 0.00 0.50 100.0 0.0 0.0 100.0| 14, 304. O|HE/K P&k
77.3 104 ~ 77.4 92 3.25 3. 00 0. 50

Koy WFeihi 3.25 2.50 0.00 0.50 100.0 0.0 0.0 100.0| 14, 404. O|HE/K PEAfEE
77.4 92 ~ 77.5 92 3.25 2.83 0. 50
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Koy WFeihi 3.25 2.50 0.00 0.50 100.0 0.0 0.0 100.0| 14, 504. O|HE/K Ak
77.5 92 ~ 77.7 1 3.25 1.90 0. 50

Koy WFeihi 3.25 2.55 0.00 0.50 100.0 0.0 0.0 100.0| 14, 604. O|HE/K Ak
77.7 1 ~ 77.8 2 3.25 2. 50 0. 50

Koy WFeihi 3.25 2.50 0.00 0.50 100.0 0.0 0.0 100.0| 14, 704. O|HE/KPEAfdE
77.8 2 ~ 77.8 102 3.25 2. 50 0. 50

Koy WFeihi 3.25 2.23 0.00 0.50 82.0 0.0 0.0 82.0| 14, 786. O|HE/KMEAHLE
77.8 102 ~ 77.8 184 3.25 2. 00 0. 50

Koy gt 3.25 2.00 0.00 0.50 118.0 0.0 0.0 118.0| 14, 904. O|HE/K P&k
77.8 184 ~ 78.0 95 3.25 2. 00 0. 50

Koy gt 3.25 2.65 0.00 0.50 100.0 0.0 0.0 100.0| 15, 004. O|HE/K P&z
78.0 95 ~ 78. 2 2 3.25 2. 00 0. 50

Koy WFeihi 3.25 2.65 0.00 0.50 100.0 0.0 0.0 100.0| 15, 104. O|HE/K Ak
78.2 2 ~ 78.3 3 3.25 2.67 0. 50

Koy WFeihi 3.25 2.50 0.00 0.50 100.0 0.0 0.0 100.0| 15, 204. O|HE/K P&z
78.3 3 ~ 78. 4 3 3.25 2.88 0. 50

Koy WFeihi 3.25 2.15 0.00 0.50 100.0 0.0 0.0 100.0| 15, 304. O|HE/K PEAfE:
78. 4 3 ~ 78.4 103 3.25 2.35 0. 50

Koy WFeihi 3.25 2.00 0.00 0.50 100.0 0.0 0.0 100.0| 15, 404. O|HE/K PEAfEE
78.4 103 ~ 78. 6 2 3.25 1.93 0. 50

Koy gt 3.25 3.00 0.00 0. 50 100.0 0.0 0.0 100.0| 15, 504. O|HE/K P&z
78. 6 2 ~ 78.7 2 3.25 1.95 0. 50

Koy gt 3.25 2.85 0.00 0.85 100.0 0.0 0.0 100.0| 15, 604. O|HE/K P&z
78.7 2 ~ 78.8 2 3.25 2.23 0.75

Koy WFeihi 3.25 2.00 0.00 0.50 60. 0 0.0 0.0 60.0| 15, 664. O|HE/KMEAHLE
78. 8 2 ~ 78.8 62 3.25 1.98 0. 50

Koy Rerfi 3.25 2.50 0. 00 0. 50 0.3 0.0 150. 7 151.0|  15,815.0|7 2 7 7 /L [k
78. 8 62 ~ 79.0 17 3.25 2. 50 0. 50
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KAy BFeTH 3.25 2. 0. 00 0.0 18, 699. 0| HEak P&z
81.7 40 3.25 2.

KAy BFeTh 3.25 2. 0. 00 0.0 18, 799. 0| Heak P&l 2
81.8 94 3.25 2.

KAy BFeTH 3.25 3. 0. 00 0.0 18, 899. 0|k ME&liZE
8.9 91 3.25 3.

KAy BFeTH 3.25 3. 0. 00 0.0 18, 999. 0|7k ME&liZE
82.0 95 3.25 3.

KAy BFeTH 3.25 3. 0. 00 0.0 19, 040. O|Hzk ME&lZE
82.1 98 3.25 3.

KAy B TH 3.25 1. 0. 00 0.0 19, 199. 0|k P&l 2
82.2 40 3.25 1.

KAy BFeTH 3.25 3. 0. 00 0.0 19, 297. 0|k P&l 2
82.3 104 3.25 2.

KAy BFeTH 3.25 2. 0. 00 0.0 19, 397. 0|k P&l 2
82.4 96 3.25 2.

KAy BFeTH 3.25 3. 0. 00 0.0 19, 497. 0|k P&l 2
82.4 196 3.25 3.

KAy BFeTH 3.25 4. 0. 00 0.0 19, 592. 0| Pk ME&lZE
82.6 93 3.25 2.

KAy BFeTH 3.25 2. 0. 00 0.0 19, 695. 0|k ME&liZE
82.7 88 3.25 1.

KAy BFeTH 3.25 2. 0. 00 0.0 19, 795. 0|k P&l 2
82.9 0 3.25 1.

KAy BFeTH 3.25 2. 0. 00 0.0 19, 887. O|HEak P&z
82.9 100 3.25 1.

KAy BFETH 3.25 2. 0. 00 0.0 19, 995. 0|k P&l 2
83.0 83 3.25 1.
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Koy et 3.25 3 0. 00 0. 100. 0 0.0 20, 095. O|HEACH:A%E
83.1 90 3.25 2. 0.

Koy e 3.25 2 0. 00 0. 100. 0.0 20, 195. O|HEACHEA%E
83.2 84 3.25 1. 0.

Koy et 3.25 2. 0. 00 0. 100. 0.0 20, 295. O|HEACHEA%E
83.3 86 3.25 1. 0.

Koy e 3.25 2. 0. 00 0. 100. 0.0 20, 395. O|HEACHEA%E
83.4 85 3.25 1. 0.

Koy Wi 3.25 2 0. 00 0. 0.0 20, 475. OBk MEEl%E
83.5 86 3.25 4 0.

Koy et 3.25 2. 0. 00 0. 120. 0.0 20, 595. O|HEACIHEA%E
83.6 65 3.25 2 0.

Koy Wi 3.25 2 0. 00 0. 0.0 20, 640. 0| HEAKMEE%E
83.7 88 3.25 1. 0.

Koy e 3.25 2. 0. 00 0. 155. 0.0 20, 795. O|HEACHEA%E
83.8 35 3.25 1. 0.

Koy e 3.25 2. 0. 00 0. 102. 0.0 20, 897. O|HEACH:A%E
83.9 86 3.25 1. 0.

Koy e 3.25 1 0. 00 0. 100. 0.0 20, 997. O|HEACH: A %E
84.0 89 3.25 0. 0.

Koy e 3.25 1 0. 00 0. 100. 0.0 21, 097. O|HEACH:Ai%E
84.1 88 3.25 1. 0.

Koy e 3.25 2 0. 00 0. 100. 0.0 21, 197. O|HEACIHE: A %E
84.2 93 3.25 2. 0.

Koy e 3.25 2 0. 00 0. 100. 0.0 21, 297. O|HEACHE A %E
84.3 93 3.25 1. 0.

Koy Rerfi 3.25 2. 0. 00 0. 0.0 21, 377. O|Heak el
84.4 93 3.25 1. 0.
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Koy WFeihi 3.25 2.45 0.00 0.50 34.0 0.0 0.0 34.0| 21, 411. O|BEAKMEAEE
84.5 79 ~ 84. 6 14 3.25 1.90 0. 50

Koy WFeihi 3.25 2.00 0.00 0.50 0.0 0.0 51.0 51.0| 21, 462. O|PEAKMEAHEE
84. 6 14 ~ 84. 6 65 3.25 2. 00 0. 50

Koy WFeihi 3.25 1.75 0.00 0.50 135.0 0.0 0.0 135.0(  21,597.0[7 %2 7 7 v &k
84. 6 65 ~ 84. 8 0 3.25 2.95 0. 50

Koy WFeihi 3.25 2.90 0.00 0.50 100.0 0.0 0.0 100.0| 21, 697. O|HE/K Ak
84. 8 0 ~ 84.9 0 3.25 3. 00 0.75

Koy gt 3.25 2.00 0.00 0.50 70.0 0.0 0.0 70.0| 21, 767. O|BEAKMEAEE
84.9 0 ~ 84.9 70 3.25 2.10 0.75

Koy gt 3.25 3.00 0.00 0.50 125.0 0.0 0.0 125.0| 21, 892. O|HE/KPEAfEE
84.9 70 ~ 85. 0 36 3.25 2.70 0.75

Koy WFeihi 3.25 1.90 0.00 0.50 100.0 0.0 0.0 100.0| 21, 992. O|HE/K P&z
85. 0 86 ~ 85. 1 84 3.25 2.15 1.00

Koy WFeihi 3.25 4.00 0.00 0.50 100.0 0.0 0.0 100.0| 22, 092. O|HE/K PEAfdE
85. 1 84 ~ 85. 2 91 3.25 2.70 0. 50

Koy WFeihi 3.25 1.00 0.00 0.50 67.0 0.0 0.0 67.0| 22, 159. O|HE/K MEAfEE
85. 2 9] ~ 85. 3 54 3.25 2. 50 0.75

Koy WFeihi 3.25 3.00 0.00 0. 50 0.1 0.0 39.9 40.0[  22,199.0[7 %27 7 v &k
85. 3 54 ~ 85. 3 94 3.25 2. 00 0. 50

Koy gt 3.25 2.00 0.00 1.50 80. 0 0.0 0.0 80.0| 22, 279. O|HE/KMEAHLE
85. 3 94 ~ 85. 4 75 3.25 3. 00 0. 50

Koy gt 3.25 2.00 0.00 1.75 116.0 0.0 0.0 116.0| 22, 395. O|HE/K PEAfEE
85. 4 75 ~ 85.5 92 3.25 3.05 0. 50

Koy WFeihi 3.25 2.00 0.00 0.50 110.0 0.0 0.0 110.0| 22, 505. O|HE/K P&k
85.5 92 ~ 85. 6 96 3.25 1.90 0.75

Koy WFeihi 3.25 1.85 0.00 0.75 100.0 0.0 0.0 100.0| 22, 605. O|HE/AKPEAfEE
85. 6 96 ~ 85.7 93 3.25 1.60 0.75
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Koy WFeihi 3.25 1.50 0.00 0.75 100.0 0.0 0.0 100.0| 22, 705. O|HE/K PEAfEE
85.7 93 ~ 85. 8 92 3.25 2. 50 0. 50

Koy WFeihi 3.25 3.30 0.00 0.75 100.0 0.0 0.0 100.0| 22, 805. O|HE/K P&z
85. 8 92 ~ 85.9 98 3.25 2.30 0. 50

Koy WFeihi 3.25 2.00 0.00 0.50 100.0 0.0 0.0 100.0| 22, 905. O|HE/K PEAfidk
85.9 98 ~ 86. 0 89 3.25 2. 00 0.75

Koy WFeihi 3.25 2.00 0.00 0.50 94.0 0.0 0.0 94.0|  22,999. O|HE/KMEAfLE
86. 0 89 ~ 86. 1 89 3.25 2. 00 0. 50

Koy gt 3.25 2.00 0.00 0.50 115.0 0.0 0.0 115.0| 23, 114. O|HE/K P&k
86. 1 89 ~ 86. 2 89 3.25 2.10 0. 50

Koy gt 3.25 2.70 0.00 0. 50 40.0 0.0 0.0 40. 0 23,154. 0|7 2 7 7 )L &k
86. 2 89 ~ 86. 3 40 3.25 2.10 0. 50

Koy WFeihi 3.25 2.00 0.00 0.50 160.0 0.0 0.0 160. 0  23,314. 0|7 2 7 7L &k
86. 3 40 ~ 86.4 89 3.25 1.85 0. 50

Koy WFeihi 3.25 3.00 0.00 0.75 96. 0 0.0 0.0 96.0[ 23,410.0[7 27 7L &k
86.4 89 ~ 86. 5 86 3.25 2.20 0. 50

Koy WFeihi 3.25 3.00 0.00 0.75 106. 0 0.0 0.0 106.0[  23,516. 07 % 7 7L &k
86. 5 86 ~ 86. 6 85 3.25 2.05 0. 50

Koy WFeihi 3.25 3.00 0.00 0.75 92.0 0.0 0.0 92.0[ 23,608.0[7 %7 7L &k
86. 6 85 ~ 86. 7 85 3.25 2.05 0. 50

Koy gt 3.25 3.00 0.00 0.75 96. 0 0.0 0.0 96. 0 23,704.0[7 27 7L &k
86. 7 85 ~ 86. 8 85 3.25 1.85 0. 50

Koy gt 3.25 3.00 0.00 0.75 98.0 0.0 0.0 98.0[ 23,802.0[7 %7 7L kL
86. 8 85 ~ 86. 9 84 3.25 2. 00 0. 50

Koy WFeihi 3.25 3.00 0.00 0.75 100.0 0.0 0.0 100. 0  23,902.0[7 % 7 7 v A&k
86. 9 84 ~ 87.0 83 3.25 2. 00 0. 50

Koy WFeihi 3.25 3.00 0.00 1.00 102.0 0.0 0.0 102.0[ 24, 004. 0|7 2 7 7 v &k
87.0 83 ~ 87. 1 83 3.25 2.25 0. 50
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Koy WFeihi 3.25 2.00 0.00 0.50 100.0 0.0 0.0 100.0| 25, 303. O|HE/KMEAfEE
88. 4 6 ~ 88.5 4 3.25 3. 00 0.75

Koy WFeihi 3.25 2.30 0.00 0.50 100.0 0.0 0.0 100.0| 25, 403. O|HE/K P&z
88.5 4 ~ 88. 6 4 3.25 3. 00 0.75

Koy WFeihi 3.25 2.70 0.00 0.50 100.0 0.0 0.0 100.0| 25, 503. O|HE/K P&z
88. 6 4 ~ 88.7 0 3.25 3. 00 0. 50

KAy AP 3.25 2.05 0. 00 0. 50 100.0 0.0 0.0 100.0| 25, 603. O|HE/KPEAfEE
88.7 0 ~ 88.7 100 3.25 3. 00 0. 50

KAy AR 3.25 2. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 25, 703. O|HE/K PEAfEE
88. 8 0 ~ 88.8 100 6. 25 3. 00 0. 50

KAy WAFEET 3.25 2.10 0. 00 0.75 100.0 0.0 0.0 100.0| 25, 803. O|HE/KMEAfEE
88.9 0 ~ 88.9 100 6. 25 3. 00 0. 50

KAy WEAFEET 3.25 2.15 0. 00 0. 50 100.0 0.0 0.0 100.0| 25, 903. O|HE/K P&z
89. 0 0 ~ 89.0 100 6. 25 3. 00 0. 50

KAy AP 3.25 2.90 0. 00 1.00 100.0 0.0 0.0 100.0| 26, 003. O|HE/K P&z
89. 1 0 ~ 89.1 100 6. 25 3. 00 0. 50

KAy WEAFEET 3.25 2. 00 0. 00 2. 00 95.9 0.0 4.1 100.0| 26, 103. O|HE/K PEAfEE
89. 2 0 ~ 89.2 100 6. 25 3. 00 0. 50

KAy AP 3.25 2.10 0. 00 0. 50 100.0 0.0 0.0 100.0| 26, 203. O|HE/K PEAfEE
89. 3 0 ~ 89.3 100 6. 25 3. 00 0. 50

KAy AR 3.25 2.20 0. 00 0. 50 100.0 0.0 0.0 100.0| 26, 303. O|HE/K PEAfEE
89. 4 0 ~ 89.4 100 3.25 0. 00 1.00

KAy W HFEETH 3.25 2.20 0. 00 0. 50 100.0 0.0 0.0 100. 0| 26, 403. 0|7 %2 7 7 )L &k
89. 5 0 ~ 89.5 100 3.25 0. 00 1.00

KAy W HFEETH 3.25 2.15 0. 00 0. 50 120.0 0.0 0.0 120.0[  26,523.0[7 % 7 7 v &k
89. 6 0 ~ 89. 7 20 3.25 0. 00 1.00

KAy W HFEETH 3.25 3.50 0. 00 0. 50 80. 0 0.0 0.0 80.0 26,603.0[7 %7 7L &k
89. 7 20 ~ 89.7 100 3.25 0. 00 1.00
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KAy W HFEETH 3.25 2.30 0. 00 0.0 0. 100. 26, 703.0| 7 A 7 7 /L Fi%k
89. 8 0 89. 100 3.25 0. 00

KAy W HFEETH 3.25 2.00 0. 00 0.0 0. 100. 26,803. 0|7 A 7 7 /L %k
89. 9 0 89. 100 3.25 0. 00

KAy W HFEETH 3.25 2.00 0. 00 0.0 0. 120. 26,923.0|7 A7 7 /L %k
90. 0 0 90. 20 3.25 0. 00

KAy W HFEETH 3.25 2.45 0. 00 0.0 0. 80. 27,003. 0|7 A 7 7 /L Fi%k
90. 1 20 90. 100 3.25 0. 00

KAy W HFEETH 3.25 2.80 0. 00 0.0 0. 60. 27,063. 0|7 A 7 7 /L |i%k
90. 2 0 90. 60 3.25 0. 00

KAy W HFEETH 3.25 2.80 0. 00 0.0 0. 28. 27,091. 0|7 A 7 7 /L Fid%k
90. 2 60 90. 88 3.25 2. 50

KAy W HFEETH 3.25 2.00 0. 00 0.0 12. 12. 27,103. 0|7 A 7 7 /L [k
90. 2 88 90. 0 3.25 0. 00

KAy W HFEETH 3.25 2. 40 0. 00 0.0 0. 100. 27,203.0|7 A7 7 /L Fi%k
90. 3 0 90. 100 3.25 0. 00

KAy W FEETH 3.25 2.00 0. 00 0.0 0. 100. 27,303.0| 7 A7 7 /L Fi%k
90. 4 0 90. 100 3.25 0. 00

KAy W HFEETH 3.25 2.30 0. 00 0.0 0. 100. 27,403. 0|7 A 7 7 /L Fi%k
90. 5 0 90. 100 3.25 0. 00

KAy W HFEETH 3.25 2.30 0. 00 0.0 0. 100. 27,503. 0|7 A 7 7 /L Fi%k
90. 6 0 90. 100 3.25 0. 00

KAy W HFEETH 3.25 2.00 0. 00 0.0 0. 50. 27,553.0| 7 A 7 7 /L %k
90. 7 0 90. 50 3.25 0. 00

KAy W HFEETH 3.25 3.00 0. 00 0.0 0. 75. 27,628.0| 7 A7 7 /L Ni%k
90. 7 50 90. 25 3.25 0. 00

KAy W HFEETH 3.25 2.00 0. 00 0.0 12. 12. 27,640. 0| 7 A 7 7 /L ik
90. 8 25 90. 37 3.25 0. 00
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KAy B EE T 3.25 2. 0. 00 163.0 0.0 27,803. 07 =2 7 7 v ik
90. 8 37 3.25 0. 1.

KA BN EET 3.25 2. 0. 00 0. 0.0 27,903. 0|7 2 7 7 /L Nk
91.0 3.25 0. 0.

KAy B EE T 3.25 2. 0. 00 0. 100. 0.0 28,003. 0|7 =2 7 7 v ik
91. 1 3.25 0. 0.

KAy B EE T 3.25 2. 0. 00 0. 100. 0.0 28,103. 0|7 2 7 7 v MajidE
91.2 3.25 0. 2.

KAy B EE T 3.25 2. 0. 00 0. 100. 0.0 28,203. 07 2 7 7 v Nk
91.3 3.25 0. 1.

KAy B EE T 3.25 2. 0. 00 100. 0.0 28,303. 07 2 7 7 v MajidE
91.4 3.25 0.

KAy B EE T 3.25 2. 0. 00 100. 0.0 28,403. 07 2 7 7 v ek
91.5 3.25 0.

KAy B EE T 3.25 2. 0. 00 107. 0.0 28,510. 0| 7 2 7 7 v ek
91.6 3.25 0.

KAy R A EE T 3.25 2. 0.00 0.0 28,603. 0|7 2 7 7 L NajidE
91.7 3.25 0.

KAy B ST 3.25 2. 0. 00 100. 0.0 28,703.0(7 2 7 7 v NajidE
91.8 3.25 0.

KAy R A ST 3.25 2. 0. 00 100. 0.0 28,803. 07 =2 7 7 v ik
91.9 3.25 0.

KAy B EE T 3.25 2. 0. 00 100. 0.0 28,903. 07 =2 7 7 v Mk
92. 0 3.25 0.

KAy B EE T 3.25 2. 0. 00 100. 0.0 29, 003. 0|7 =2 7 7 v FajidE
92. 1 3.25 0.

KAy B ST 3.25 2. 0. 00 100. 0.0 29,103. 07 =2 7 7 v Mk
92. 2 3.25 0.
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KAy W HFEETH 3.25 2. 40 0. 00 3. 00 100.0 0.0 0.0 100. 0  29,203.0[7 %27 7 v &k
92. 3 0 ~ 92.3 100 3.25 0. 00 0. 50

KAy W HFEETH 3.25 2.00 0. 00 2.75 96. 0 0.0 0.0 96.0[ 29,299.0[7 %7 7L &k
92. 4 0 ~ 92.4 96 3.25 0. 00 2.35

KAy W HFEETH 3.25 2.00 0. 00 1.25 104.0 0.0 0.0 104. 0 29, 403. 07 %2 7 7 v &k
92.4 96 ~ 92.4 200 3.25 0. 00 0.75

KAy W HFEETH 3.25 2.25 0. 00 0. 50 100.0 0.0 0.0 100.0[  29,503.0[7 % 7 7 v A&k
92. 6 0 ~ 92.6 100 3.25 0. 00 0.75

KAy W HFEETH 3.25 2.30 0. 00 0. 50 100.0 0.0 0.0 100.0[ 29, 603.0[7 %7 7 v &k
92.6 100 ~ 92.6 200 3.25 0. 00 0.75

KAy W HFEETH 3.25 2.00 0. 00 0. 50 100.0 0.0 0.0 100.0[  29,703.0[7 %2 7 7 v &k
92. 8 0 ~ 92.8 100 3.25 0. 00 1.25

KAy W HFEETH 3.25 2.00 0. 00 2.25 100.0 0.0 0.0 100.0[  29,803.0[7 % 7 7 v &k
92.9 0 ~ 92.9 100 3.25 0. 00 1.75

KAy W HFEETH 3.25 2.30 0. 00 0.75 100.0 0.0 0.0 100.0[  29,903.0[7 %2 7 7 v &k
93.0 0 ~ 93.0 100 3.25 0. 00 1.25

KAy W FEETH 3.25 1. 50 0. 00 0. 50 100.0 0.0 0.0 100.0[ 30, 003. 07 % 7 7 )L s
93. 1 0 ~ 93.1 100 3.25 0. 00 1.25

KAy W HFEETH 3.25 2.00 0. 00 2. 50 100.0 0.0 0.0 100.0[ 30, 103. 0|7 =2 7 7 )L s
93.2 0 ~ 93.2 100 3.25 0. 00 1.25

KAy W HFEETH 3.25 2.00 0. 00 1.00 94.0 0.0 0.0 94.0(  30,197.0[7 2 7 7 v &k
93.2 100 ~ 93.2 194 3.25 0. 00 1.25

KAy W HFEETH 3.25 2.00 0. 00 0.75 95.0 0.0 0.0 95.0[  30,292.0[7 %7 7L &k
93. 4 0 ~ 93.4 95 3.25 0. 00 2.75

KAy W HFEETH 3.25 2. 50 0. 00 0.75 105.0 0.0 0.0 105.0[  30,397.0[7 %2 7 7L Ak
93.4 95 ~ 93.5 100 3.25 2.25 1.75

KAy W HFEETH 3.25 3.40 0. 00 0. 50 100.0 0.0 0.0 100. 0  30,497. 07 %2 7 7 v &k
93. 6 0 ~ 93.6 100 3.25 2. 00 0. 50




It

%
A BliE
g = A&
15| (BB B, FE:T 0D JENNAE R & T O FE AR
HOGE | orBEEY HOK | hexo
m

KAy B EE T 3. 1. 0. 00 0.0 30, 504. 0| 7 A2 7 7 /L ik
93.7 3. 0.

KA BN EET 3. 2. 0. 00 0.0 30, 597. 0| 7 2 7 7 L Ak
93.7 3. 0.

KAy B EE T 3. 2. 0. 00 100. 0.0 30, 697. 0| 7 2 7 7 /L ik
93. 8 3. 0.

KAy B EE T 3. 2. 0. 00 100. 0.0 30, 797. 0| 7 2 7 7 /L ik
93.9 3. 0.

KAy B EE T 3. 2. 0. 00 100. 0.0 30, 897. 0| 7 2 7 7 /L ik
94. 0 3. 0.

KAy B EE T 3. 2. 0. 00 100. 0.0 30, 997. 0| 7 A2 7 7 /L ik
94. 1 3. 0.

KAy B EE T 3. 1. 0. 00 100. 0.0 31, 097. 0|7 2 7 7 /L ik
94. 2 3. 0.

KAy B EE T 3. 2. 0. 00 130. 0.0 31, 227.0| 7 2 7 7 /L sk
94. 3 3. 2.

KAy R A EE T 3. 3. 0. 00 0.0 31,297. 0|7 A2 7 7 /b ik
94. 4 30 3. 3.

AT BT 3. 2. 0. 00 0.0 31,391. 0|7 27 7 )L hafsE
94. 5 3. 2.

KAy R A ST 3. 2. 0. 00 0.0 31,399. 0|7 2 7 7 /L sk
94. 5 94 3. 2.

KAy B EE T 3. 2. 0. 00 0.0 31,497. 0|7 2 7 7 /L sk
94. 6 3. 2.

KAy B EE T 3. 2. 0. 00 0.0 31, 547. 0| 7 A 7 7 /L sk
94. 7 3. 1.

KAy B ST 3. 2. 0. 00 146. 0.0 31, 697. 0|7 2 7 7 /L sk
94. 7 50 3. 2.
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KAy W HFEETH 3.25 2.00 0. 00 0. 100.0 0.0 100. 31,797. 0|7 27 7 v ik
94.9 0 94, 100 3.25 2. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 125. 0.0 125. 31,922. 0|7 27 7 v b alidk
95. 0 0 95. 125 3.25 2.25 0.

KAy W HFEETH 3.25 1. 50 0. 00 0. 75. 0.0 75. 31,997. 0|7 27 7 v b alidk
95.0 125 95. 200 3.25 2. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 93. 0.0 100. 32,097. 0|7 27 7 v b alizk
95. 2 0 95. 100 3.25 2. 00 0.

KAy W HFEETH 3.25 4. 00 0. 00 0. 100. 0.0 100. 32,197. 0|7 27 7 v b alidk
95. 3 0 95. 100 3.25 4. 00 0.

KAy W HFEETH 3.25 3.25 0. 00 0. 70. 0.0 70. 32,267. 0|7 27 7 v b alizk
95. 4 0 95. 70 3.25 2.15 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 130. 0.0 130. 32,397. 0|7 27 7 v ik
95. 4 70 95, 0 3.25 3. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 50. 0.0 50. 32,447. 0|7 27 7 v b Elizk
95. 6 0 95. 50 3.25 2.15 0.

KAy W FEETH 3.25 2.00 0. 00 0. 150. 0.0 150. 32,597. 0|7 27 7 v b alidk
95. 6 50 95. 0 3.25 2. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 100. 0.0 100. 32,697. 0|7 27 7 v b alizk
95. 8 0 95. 100 3.25 2.90 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 100. 0.0 100. 32,797. 0|7 27 7 v b alidk
95.9 0 95. 100 3.25 2.30 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 62. 0.0 62. 32,859. 0|7 27 7 v b alizk
96. 0 0 96. 62 3.25 2.25 0.

KAy W HFEETH 3.25 2.70 0. 00 0. 98. 0.0 98. 32,957. 0|7 27 7 v b alizk
96. 0 62 96. 60 3.25 2.35 0.

KAy W HFEETH 6. 25 2.70 0. 00 0. 140. 0.0 140. 33,097. 0|7 27 7 v b alizk
96. 1 60 96. 0 3.25 2.30 0.
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Koy AR 6. 25 2.70 0. 00 0. 100. 0 0.0 0. 100. 33,197. 0|7 2 7 7 /v I il
96. 3 0 96. 0 3.25 2.35 0.

Koy AP 6. 25 2.70 0. 00 0. 100. 0.0 0. 100. 33,297. 0|7 2 7 7 v 1l
96. 4 0 96. 0 3.25 2.25 0.

Koy AR 6. 25 2.70 0. 00 0. 100. 0.0 0. 100. 33,397. 0|7 2 7 7 v Il
96. 5 0 96. 0 3.25 2.25 0.

Koy AR 6. 25 2.70 0. 00 0. 100. 0.0 0. 100. 33,497. 0|7 2 7 7 v 1l
96. 6 0 96. 0 3.25 2. 10 0.

Koy AP 6. 25 2.70 0. 00 0. 100. 0.0 0. 100. 33,597. 0| 7 2 7 7 /v il
96. 7 0 96. 0 3.25 2. 20 0.

Koy BHFEE 6. 25 2.70 0. 00 0. 100. 0.0 0. 100. 33,697. 0|7 2 7 7 /L Il
96. 8 0 96. 0 3.25 2.25 0.

Koy AR 6. 25 2.70 0. 00 0. 40. 0.0 0. 40. 33,737. 0|7 2 7 7 v 1l
96. 9 0 97. 40 3.25 2.23 0.

Koy AR 3.25 2.70 0. 00 0. 123. 0.0 0. 123. 33,860. 07 2 7 7 /L Il
97.0 40 97. 63 3.25 2. 60 0.

Koy BHrEE 3.25 0. 00 0. 00 0. 0. 0.0 6. 7. 33,867. 07 27 7 L Il
97.0 63 97. 70 3.25 2. 00 0.

Koy AP 3.25 1.50 0. 00 0. -2. 0.0 52. 50. 33,917. 0|7 2 7 7 /v 1l
97.0 70 97. 20 3.25 2. 20 0.

Koy AP 3.25 0. 00 0. 00 0. 52. 0.0 0. 52. 33,969. 07 2 7 7 /L Il
97. 1 20 97. 72 3.25 2. 00 0.

Koy WAL 3.25 0. 00 0. 00 0. 128. 0.0 0. 128. 34,097. 0|7 2 7 7 /v 1l
97. 1 72 97. 0 3.25 2. 00 0.

Koy RHFEE 3.25 0. 00 0. 00 0. 100. 0.0 0. 100. 34,197. 0|7 2 7 7 v 1 il
97. 3 2 97. 2 3.25 2.35 0.

Koy WAL 3.25 0. 00 0. 00 0. 100. 0.0 0. 100. 34,297. 0|7 2 7 7 /v 1l
97. 4 2 97. 2 3.25 2.25 0.




At
=
R
i
T

—F
B4 0010 BliE
g = HE £
X (B B0, TETYAD m m JEINGE & 1 O FEFA
WOGHE | E | BER | B OB | B OB | hexar i TERR R F
m
oy AT 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  34,397.0|7 27 7 /L [afidk
97.5 2 ~ 97. 6 2 3.25 2.26 0. 50
oy AT 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  34,497.0|7 27 7 /L [afidk
97. 6 2 ~ 97.7 2 3.25 2. 00 0. 50
oy AT 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  34,597.0|7 27 7 /L [afidk
97.7 2 ~ 97. 8 2 3.25 2.15 0. 50
oy AT 3.25 0. 00 0. 00 1.25 48.0 0.0 0.0 48.0|  34,645.0|7 A7 7 /L ik
97.8 2 ~ 97.8 50 3.25 2.20 0. 50
oy AT 3.25 0. 00 0. 00 1.25 152.0 0.0 0.0 152.0|  34,797.0|7 27 7 /L [
97.9 50 ~ 98. 0 2 3.25 2. 30 0. 50
oy AT 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  34,897.0|7 27 7 /L [k
98. 0 2 ~ 98. 1 2 3.25 2.25 0. 50
oy AT 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  34,997.0|7 27 7 /L [k
98. 1 2 ~ 98. 2 2 3.25 2.25 0. 50
Koy AR 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  35,097.0|7 27 7 /L &%
98. 2 2 ~ 98. 3 2 3.25 2. 20 0. 50
Koy BHrEE 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  35,197.0|7 2 7 7 /L [afi%k
98. 3 2 ~ 98. 4 2 3.25 2. 00 0. 50
Koy AP 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  35,297.0|7 A7 7 /L ik
98. 4 2 ~ 98.5 2 3.25 2. 50 0. 50
Koy AP 3.25 0. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  35,397.0|7 27 7 /L [k
98.5 2 ~ 98. 6 2 3.25 2. 00 0. 50
Koy WAL 3.25 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100.0|  35,497.0|7 2 7 7 /L [afi%k
98. 6 2 ~ 98. 7 0 3.25 2. 00 0. 50
Koy RHFEE 3.25 0. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  35,597.0|7 A7 7 /L [k
98. 7 0 ~ 98.7 100 3.25 2.23 0. 50
Koy WAL 3.25 0. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  35,697.0|7 27 7 /L [k
98.7 100 ~ 98.7 200 3.25 2.25 0. 50
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KAy W HFEETH 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0. 100. 35,797. 0|7 27 7 v b alidk
98.7 200 98. 300 3.25 2.30 0. 50

KAy W HFEETH 3.25 0. 00 0. 00 0. 50 110.0 0.0 0. 110. 35,907. 0|7 27 7 v b alizk
98.7 300 98. 410 3.25 2.25 0. 50

KAy W HFEETH 3.25 2. 00 0. 00 2.25 85.0 0.0 0. 85. 35,992. 0|7 27 7 v b alizk
98.7 410 99, 90 3.25 2. 00 0. 50

Koy AR 3.25 2.30 0. 00 0. 50 40. 0 0.0 0. 40. 36, 032. O [HEAPEAfZE
99. 1 90 99, 130 3.25 2.20 0. 50

KAy AR EETH 3.25 2.25 0. 00 0. 50 7.0 0.0 0. 7. 36, 039. O|HEACH: A2k
99.1 130 99, 137 3.25 2.25 0. 50

KAy AR EET 3.25 2. 60 0. 00 0. 50 151.5 0.0 6. 158. 36, 197. O|HEACH: A2k
99.1 137 99, 100 3.25 3. 00 0. 50

KAy WEAFEET 3.25 2.25 0. 00 0. 50 80. 0 0.0 0. 80. 36, 277. O|HEAC Al 2k
99. 4 0 99, 80 3.25 2. 00 0. 50

KAy AP 3.25 3.10 0. 00 0. 50 45.0 0.0 0. 45. 36, 322. O|HEACH: A2k
99.4 80 99, 25 3.25 3. 50 0. 50

KAy WEAFEET 3.25 2. 00 0. 00 1.50 175.0 0.0 0. 175. 36, 497. O|HEACH: A2k
99. 5 25 99, 100 3.25 1.95 0. 50

KAy AP 3.25 2.90 0. 00 0. 50 17.0 0.0 36. 53. 36, 550. O|HEAC A2k
99. 7 0 99, 53 3.25 2. 50 0. 50

KAy W HFEETH 3.25 2.00 0. 00 0.25 36.0 0.0 0. 36. 36, 586. 0| 7 2 7 7 v b alizk
99. 7 53 99, 89 3.25 2. 00 0. 25

KAy W HFEETH 3.25 2. 40 0. 00 0. 50 111.0 0.0 0. 111. 36,697. 0| 7 27 7 v b alizk
99. 7 89 99, 0 3.25 2. 50 0. 50

KAy W HFEETH 3.25 2.15 0. 00 0. 50 100. 0 0.0 0. 100. 36,797. 0| 7 2 7 7 v b lidk
99. 9 0 100. 0 3.25 2. 00 0. 50

KAy W HFEETH 3.25 2. 17 0. 00 0. 50 100. 0 0.0 0. 100. 36,897. 0|7 27 7 v b alizk

100. 0 0 100. 0 3.25 2. 00 0. 50
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KAy W HFEETH 3.25 2.15 0. 00 0. 100. 0 0. 100. 36,997. 0|7 27 7 v b alizk
100. 1 0 100. 100 3.25 2.25 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 113. 26. 139. 37,136. 0|7 2 7 7 v b alidk
100.1 100 100. 39 3.25 2. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 26. 0. 26. 37,162. 0|7 27 7 v b ilidk
100. 3 39 100. 65 3.25 2. 00 0.

KAy W HFEETH 3.25 3.00 0. 00 0. 16. 0. 16. 37,178. 0|7 2 7 7 v b ailizk
100. 3 65 100. 81 3.25 3. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 0. 13. 13. 37,191. 0|7 2 7 7 v b Gl
100. 3 81 100. 94 3.25 2. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 46. 0. 46. 37,237.0| 7 27 7 v bl
100. 3 94 100. 140 3.25 3. 00 0.

KAy W HFEETH 3.25 2.05 0. 00 0. 160. 0. 160. 37,397. 0|7 27 7 v b lidk
100.3 140 100. 100 3.25 3. 50 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 100. 0. 100. 37,497. 0|7 27 7 v b lidk
100. 6 0 100. 100 3.25 2. 00 0.

KAy W FEETH 3.25 2.00 0. 00 0. 100. 0. 100. 37,597. 0| 7 27 7 v b alidk
100. 7 0 100. 0 3.25 2. 30 0.

KAy W HFEETH 3.25 1. 50 0. 00 0. 100. 0. 100. 37,697. 0| 7 27 7 v b alidk
100. 8 0 100. 0 3.25 2. 30 0.

KAy W HFEETH 3.25 1. 20 0. 00 0. 100. 0. 100. 37,797. 0| 7 2 7 7 v b lidk
100. 9 0 101. 0 3.25 2. 30 0.

KAy W HFEETH 3.25 1. 50 0. 00 0. 79. 0. 79. 37,876. 0| 7 27 7 v b Elizk
101. 0 0 101. 79 3.25 2. 00 0.

KAy W HFEETH 3.25 0. 00 0. 00 0. 0. 44, 44, 37,920. 0|7 27 7 v b alizk
101. 0 79 101. 23 3.25 1. 50 0.

KAy W HFEETH 3.25 0. 00 0. 00 0. 113. 0. 113. 38,033.0(7 27 7 v b alizk
101. 1 23 101. 36 3.25 1. 50 0.
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Koy AT 3.25 2.00 0. 00 0. 50 68. 0 0.0 0.0 68.0| 38,101.0|7 A7 7 /L il
101. 2 36 ~  101.3 0 3.25 2. 00 0.75

KAy AL 3.25 1.90 0. 00 0. 50 100. 0 0.0 0.0 100.0|  38,201.0|7 27 7 /L [
101. 3 0~ 101.4 0 3.25 2. 00 0. 50

Koy RAFEETH 3.25 2. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  38,301.0|7 27 7 /L [afiLk
101. 4 0~ 101.5 0 3.25 2. 00 0. 50

Koy RAFEETH 3.25 2.00 0. 00 1.50 100. 0 0.0 0.0 100.0|  38,401.0|7 27 7 /L [
101.5 0~ 101.6 0 3.25 1.95 0. 50

KAy AL 3.25 2.00 0. 00 1. 50 100. 0 0.0 0.0 100.0|  38,501.0|7 27 7 /L [
101. 6 0~ 101.7 0 3.25 2. 00 0. 50

Koy RATEETH 3.25 2. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  38,601.0|7 27 7 /L [k
101. 7 0~ 101.8 0 3.25 2. 00 0. 50

Koy RAFEET 3.25 2. 00 0. 00 1.50 100. 0 0.0 0.0 100.0|  38,701.0|7 27 7 /L [k
101. 8 0~ 101.8 100 3.25 2. 00 0. 50

KAy AL 3.25 2.00 0. 00 0. 50 119.0 0.0 0.0 119.0|  38,820.0|7 27 7 /L [afi%k
101. 9 0~  102.0 19 3.25 2. 00 0. 50

KAy B AL 3.25 3.00 0. 00 0.75 78.0 0.0 0.0 78.0|  38,898.0|7 % 7 7 /L L%k
102. 0 19~  102.0 97 3.25 3. 00 0.75

KAy B AL 3.25 2.00 0. 00 0.75 20.0 0.0 0.0 20.0| 38,918.0|7 A7 7 /L [afidk
102.0 97 ~  102.1 17 3.25 2. 00 1. 50

KAy B 3.25 2.00 0. 00 0.75 84.0 0.0 0.0 84.0|  39,002.0|7 A7 7 /L [afidk
102. 1 17 ~  102.2 0 3.25 2. 00 0. 50

KAy B 3.25 2.00 0. 00 0.75 100. 0 0.0 0.0 100.0| 39, 102.0|7 A2 7 7 /L &%
102. 2 0~ 102.3 0 3.25 2. 00 0. 50

KAy B 3.25 2.20 0. 00 0.75 100. 0 0.0 0.0 100.0|  39,202.0|7 27 7 /L [afiLk
102. 3 0~ 102.4 0 3.25 1.85 0.75

KAy AL 3.25 2.00 0. 00 0.75 100. 0 0.0 0.0 100.0|  39,302.0|7 27 7 /L ik
102. 4 0~ 102.5 0 3.25 2. 00 0.75
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KAy W HFEETH 3.25 2. 50 0. 00 0. 28. 2 71. 100. 39, 402. 0|7 2 7 7 v b lidk
102. 5 102. 0 3.25 2. 00 0.

KAy W HFEETH 3.25 2. 50 0. 00 0. 126. 3 0. 126. 39,528. 3|7 27 7 v ik
102. 6 103. 0 3.25 2. 50 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 100. 0 0. 100. 39,628. 3|7 27 7 v ik
103. 0 103. 0 3.25 2. 00 0.

KAy W HFEETH 3.25 1. 50 0. 00 1. 100. 0 0. 100. 39,728. 3|7 27 7 v ki
103. 1 103. 0 3.25 2. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 104. 0 0. 104. 39,832. 3|7 27 7 v ik
103. 2 103. 104 3.25 2.25 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 100. 0 0. 100. 39,932. 3|7 27 7 v ik
103. 3 103. 100 3.25 2.25 0.

KAy W HFEETH 3.25 2.00 0. 00 1. 98.0 0. 98. 40, 030. 3| 7 A 7 7 /L %k
103. 4 103. 100 3.25 1. 50 0.

KAy W HFEETH 3.25 2.00 0. 00 1. 100. 0 0. 100. 40, 130. 3| 7 A 7 7 /L ik
103.4 100 103. 0 3.25 1. 50 0.

KAy W FEETH 3.25 2.00 0. 00 0. 100. 0 0. 100. 40, 230. 3| 7 A 7 7 /L %k
103. 6 103. 100 3.25 1. 90 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 100. 0 0. 100. 40, 330. 3| 7 A 7 7 /L %k
103. 7 103. 100 3.25 2. 30 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 132.0 0. 132. 40, 462. 3| 7 A 7 7 )L %k
103. 8 103. 32 3.25 1. 50 0.

KAy W HFEETH 3.25 2. 50 0. 00 0. 93.0 0. 93. 40, 555. 3| 7 A 7 7 )L %k
103. 9 104. 25 3.25 2. 00 0.

KAy W HFEETH 3.25 2.00 0. 00 0. 11.0 0. 11. 40, 566. 3| 7 A 7 7 /L %k
104. 0 25 104. 36 3.25 1. 50 0.

KAy W HFEETH 3.25 1. 50 0. 00 0. 69. 0 0. 69. 40, 635. 3| 7 A 7 7 )L [lidk
104. 0 104. 5 3.25 2. 50 0.
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KAy W HFEETH 3.25 1. 50 0. 00 0. 50 95.0 0.0 0.0 95.0  40,730.3[7 %7 7L sk
104. 1 5~  104.2 0 3.25 2.25 0. 50
KAy W HFEETH 3.25 1. 50 0. 00 0. 50 100.0 0.0 0.0 100. 0 40, 830.3[7 %2 7 7 )L &k
104. 2 0~ 104.3 0 3.25 0. 00 1.50
KAy W HFEETH 3.25 1. 50 0. 00 0.75 100.0 0.0 0.0 100. 0| 40, 930. 3|7 % 7 7 v &k
104. 3 0~ 104.4 0 3.25 0. 00 1.50
KAy W HFEETH 3.25 1. 50 0. 00 0. 50 65. 0 0.0 0.0 65.0(  40,995.3[7 %7 7L &k
104. 4 0~ 1044 65 3.25 0. 00 1.25
KAy W HFEETH 3.25 1. 50 0. 00 0. 50 123.6 0.0 11.4 135.0(  41,130. 3|7 %27 7 v~k
104.4 65~  104.6 0 3.25 0. 00 1.30
KAy WAFEET 3.25 0. 00 0. 00 1.25 100.0 0.0 0.0 100.0| 41, 230. 3|HEKPEAHLE
104. 6 0~ 1047 0 3.25 0. 00 1.50
KAy WAFEET 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 41, 330. 3|HEKPEAHLE
104. 7 0~ 104.8 0 3.25 0. 00 1.50
KAy AP 3.25 0. 00 0. 00 3. 00 55.0 0.0 0.0 55.0| 41, 385. 3| PEAKMEALE
104. 8 0~ 104.8 55 3.25 1.50 0. 50
KAy WEAFEET 3.25 0. 00 0. 00 1.00 145.0 0.0 0.0 145.0| 41, 530. 3|HEKPEAfEE
104. 8 55 ~  105.0 0 3.25 0. 00 1.50
KAy AP 3.25 0. 00 0. 00 1.00 100.0 0.0 0.0 100.0| 41, 630. 3|HEAKMEAHLE
105. 0 0~  105.1 0 3.25 0. 00 1.50
KAy AR 3.25 0. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 41, 730. 3|HEKPEAHEE
105. 1 0~ 105.2 0 3.25 0. 00 2. 00
KAy AP 3.25 0. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 41, 830. 3|HE/KMEAHLE
105. 2 0~ 105.3 0 3.25 0. 00 0. 50
KAy WAFEET 3.25 0. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 41, 930. 3|HEKPEAHLE
105. 3 0~ 105.4 0 3.25 0. 00 0. 50
KAy WEAFEET 3.25 0. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 42, 030. 3|HEAKPEAHLE
105. 4 0~ 105.5 0 3.25 0. 00 0. 50
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KAy R HFEE T 3. 50 0. 00 0. 00 94.7 100.0| 42, 130. 3|HEAKMEAfEE
105. 5 0~ 105 3.25 0. 00

KAy R HFEE T 3. 50 0. 00 0. 00 100.0 100. 42, 230. 3|HEAK MEA%E
105. 6 0~ 105 3.50 0. 00

KAy R HFEE T 3. 50 0. 00 0. 00 100.0 100. 42, 330. 3|HEAK MEAZE
105. 7 0~ 105 3.50 0. 00

KAy R HFEE T 3. 50 0. 00 0. 00 100.0 100. 42, 430. 3|HEAK MEAZE
105. 8 0~ 105 3.50 0. 00

KAy R HFEE T 3.25 0. 00 0. 00 100.0 100. 42, 530. 3[HEAK MEA%E
105. 9 0~ 106 3.25 0. 00

KAy R HFEE T 3.25 0. 00 0. 00 100.0 100. 42, 630. 3|HEAK MEAZE
106. 0 0~ 106 3.25 0. 00

KAy R HFEE T 3. 50 0. 00 0. 00 100.0 100. 42, 730. 3|HEAK LA EE
106. 1 0~ 106 3.50 0. 00

Koy AR 3.25 0. 00 0. 00 78.7 85. 42,815. 3|7 A 7 7 /b [k
106. 2 0~ 106 3.25 0. 00

Ry s AR H HIRT 3.25 0. 00 0. 00 15.0 15. 42, 830. 3|7 2 7 7 )\ [
106.2 85~  106. 3.25 0. 00

Ry s AR H HIRT 3.25 0. 00 0. 00 100.0 100. 42,930. 3|7 2 7 7 ) R
106. 3 2~ 106 3.25 1. 50

Ry i AR H HIRT 3.25 0. 00 0. 00 100.0 100. 43,030. 3|7 2 7 7 L FéddE
106.3 102 ~  106. 3.25 1. 50

Ry s AR H HRT 3.25 0. 00 0. 00 100.0 100. 43,130. 3|7 2 7 7 )\ FédE
106.4 96 ~  106. 3.25 1. 50

Ry s AR H HRT 3.25 3.00 0. 00 100.0 100. 43, 230. 3|7 A2 7 7 )L R
106.5 89 ~  106. 3.25 2.20

Ry i AR H HRT 3.25 3.00 0. 00 109.0 109. 43,339. 3|7 2 7 7 )L RdE
106.5 189 ~  106. 3.25 2.50
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Koy IR FLAR A HIHT 3. 3. 0.00 -1.0 54. 53. 43,392. 3|7 A7 7 )\ R
106. 8 1~ 3. 2.
Koy IR FLAR A HIHT 3. 0. 0.00 136.0 0. 136. 43,528. 3|7 A2 7 7 ) RddE
106.8 54 ~ 3. 2.
K5y IR FLER HHIHT 3. 0. 0.00 100.0 0. 100. 43,628. 3|7 27 7 ) R
106.9 91 ~ 3. 2.
Ry LI AR H HRT 3. 0. 0. 00 100. 0 0. 100. 43, 728. 3| HEAK I A%E
107.0 97 ~ 3. 2.
Ry s AR H HRT 3. 0. 0. 00 100. 0 0. 100. 43, 828. 3| HEAK I A%
107.1 98 ~ 3. 1.
Ry s AR H HRT 3. 0. 0. 00 100. 0 0. 100. 43, 928. 3| HEAK I A%E
107.2 98 ~ 3. 2.
Ry LI AR H HIRT 3. 0. 0. 00 100. 0 0. 100. 44, 028. 3| HEAK I A%E
107.3 97 ~ 3. 3.
Ry s AR H HRT 3. 0. 0. 00 100. 0 0. 100. 44, 128. 3| HEAK I A%E
107.4 98 ~ 3. 0.
Ry s AR H HIRT 3. 1. 0. 00 100. 0 0. 100. 44, 228. 3| HEAK I AH%E
107.5 95 ~ 3. 0.
Ry s AR H HIRT 3. 2. 0. 00 100. 0 0. 100. 44, 328. 3| HEAK I AH%E
107.6 95 ~ 3. 2.
Ry i AR H HIRT 3. 2. 0. 00 100. 0 0. 100. 44, 428. 3| HEAK I AH%E
107.7 99 ~ 3. 2.
Ry s AR H HRT 3. 2. 0. 00 100. 0 0. 100. 44, 528. 3| HEAK I A%E
107.7 199 ~ 3. 2.
Ry s AR H HRT 3. 0. 0. 00 100. 0 0. 100. 44, 628. 3| HEAK I A%E
107.7 299 ~ 3. 2.
Koy IR FLAR A HIHT 3. 0. 0.00 100.0 0. 100. 44, 728. 3|7 A 7 7 )b R
3. 2.
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Ry s AR H HRT 3.25 0. 00 0. 00 2. 00 100. 0 0.0 0.0 100.0|  44,828.3|7 A7 7 /L [afidk
108. 1 99 ~  108.2 98 3.25 2.25 0.75

Ry s AR H HIRT 3.25 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  44,928.3|7 A7 7 /L [k
108. 2 98 ~  108.4 3 3.25 2. 00 0.75

Ry s AR H HIRT 3.25 1.50 0. 00 0.25 100. 0 0.0 0.0 100.0|  45,028.3|7 27 7 /L ik
108. 4 3~ 108.4 103 3.25 2.25 0.75

Ry LI AR H HRT 3.25 0. 00 0. 00 0.25 20.0 0.0 0.0 20.0|  45,048.3| 7 A7 7 /L ik
108.4 103 ~  108.5 15 3.25 2.25 0.75

Ry s AR H HRT 3.25 0. 00 0. 00 0.25 80.0 0.0 0.0 80.0|  45,128.3|7 A7 7 /L il
108. 5 15~ 108.5 95 3.25 2.25 0.75

Ry s AR H HRT 3.25 0. 00 0. 00 1.75 51.0 0.0 0.0 51.0|  45,179.3|7 %2 7 7 /L [k
108. 5 95 ~  108.6 47 3.25 2.25 0. 50

Ry LI AR H HIRT 3.25 0. 00 0. 00 0.75 149. 0 0.0 0.0 149.0|  45,328.3|7 27 7 /L [k
108. 6 47 ~  108.8 2 6. 25 2.25 0. 50

Ry s AR H HRT 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  45,428.3|7 A7 7 /L ik
108. 8 2~ 108.8 102 6. 25 2.25 0. 50

Ry s AR H HIRT 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  45,528.3|7 27 7 /L [k
108.8 102 ~  108.8 202 6. 25 2.25 0. 50

Ry s AR H HIRT 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  45,628.3|7 A7 7 /L [afidk
108.8 202 ~  109.0 89 6. 25 2.25 0. 50

Ry i AR H HIRT 3.25 0. 00 0. 00 0.75 76.0 0.0 0.0 76.0|  45,704.3|7 X 7 7 /L Naf%E
109. 0 89 ~  109.1 65 6. 25 2.25 0. 50

Ry s AR H HRT 3.25 0. 00 0. 00 0.75 124.0 0.0 0.0 124.0|  45,828.3|7 A7 7 /L [k
109. 1 65 ~  109.2 92 6. 25 2.25 0. 50

Ry s AR H HRT 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  45,928.3|7 27 7 /L [k
109. 2 92 ~  109.3 94 6. 25 2.25 0. 50

Ry i AR H HRT 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0| 46, 028.3|7 2 7 7 /L [afiLk
109. 3 94 ~ 109.4 98 6. 25 2.25 0. 50
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Ry s AR H HRT 3. 50 2. 00 0. 00 0.75 100. 0 0.0 0.0 100.0| 46, 128.3|7 A 7 7 /L [k
109.4 98 ~  109.5 100 3. 50 2.25 0. 50

Ry s AR H HIRT 3. 50 2. 00 0. 00 0.75 100. 0 0.0 0.0 100.0| 46, 228.3|7 A7 7 /L [afidk
109.5 100 ~  109.6 89 3. 50 3. 50 0. 50

Ry s AR H HIRT 3. 50 1.50 0. 00 0.75 100. 0 0.0 0.0 100.0| 46, 328.3|7 2 7 7 /L [afidk
109. 6 89 ~  109.7 70 3. 50 2. 00 0. 50

Ry LI AR H HRT 3. 50 1.50 0. 00 0.75 58.0 0.0 0.0 58.0| 46, 386.3|7 A 7 7 /L L%k
109. 7 70 ~  109.8 36 3. 50 2. 00 0. 50

Ry s AR H HRT 3. 50 1.50 0. 00 0.75 112.0 0.0 0.0 112.0|  46,498.3|7 2 7 7 /L ik
109. 8 36 ~  109.9 42 3. 50 2. 00 0. 50

Ry s AR H HRT 3.25 1.00 0. 00 0.75 130.0 0.0 0.0 130.0| 46, 628.3|7 27 7 /L [k
109. 9 42 ~  110.1 6 3.25 2.25 0. 50

Ry LI AR H HIRT 7. 00 1.00 0. 00 0.75 100. 0 0.0 0.0 100.0| 46, 728.3|7 A 7 7 /L [k
110. 1 6~ 110.2 8 3.25 2. 50 0. 50

Ry s AR H HRT 6. 25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100.0| 46, 828.3|7 27 7 /L [afidk
110. 2 8 ~ 110.3 1 3.25 2. 50 0.75

Ry s AR H HIRT 6. 25 1.50 0. 00 0.75 100. 0 0.0 0.0 100.0|  46,928.3|7 27 7 /L [afiLk
110. 3 1~ 110.4 1 3.25 2. 50 0.75

Ry s AR H HIRT 6. 25 1.75 0. 00 0.75 100. 0 0.0 0.0 100.0|  47,028.3|7 A7 7 /L ik
110. 4 1~ 110.5 9 3.25 2. 50 0.75

Ry i AR H HIRT 6. 25 1.50 0. 00 0.75 100. 0 0.0 0.0 100.0|  47,128.3|7 27 7 /L [k
110.5 9~ 110.5 109 3.25 2. 50 0.75

Ry s AR H HRT 6. 25 1.00 0. 00 0.75 98.0 0.0 0.0 98.0| 47,226.3|7 A7 7 /L ik
110.5 109 ~  110.7 1 3.25 2. 00 0.75

Ry s AR H HRT 6. 25 2. 00 0. 00 0.75 116.0 0.0 0.0 116.0|  47,342.3|7 2 7 7 /L ik
110.7 1~ 110.8 17 3.25 2. 00 0.75

Ry i AR H HRT 6. 25 2. 00 0. 00 0.75 84.0 0.0 0.0 84.0|  47,426.3|7 A7 7 /L ik
110.8 17~ 110.8 101 3.25 2. 00 0.75
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Koy IR FLAR A HIHT 6. 2. 0.00 100.0 0. 100. 47,526. 3|7 A2 7 7 b R
110.8 101 ~ 3. 2.
Ry s AR H HIRT 6. 2. 0. 00 127. 0. 127. 47, 653. 3| HEA A%
110.9 94 ~ 3. 1.
Ry s AR H HIRT 6. 2. 0. 00 73. 0. 73. 47, 726. 3| HEAK I A%E
111.1 12 ~ 3. 2.
Ry LI AR H HRT 6. 1. 0. 00 100. 0. 100. 47, 826. 3| HEAK I A%E
111.2 0 ~ 3. 2.
Ry s AR H HRT 6. 1. 0. 00 50. 0. 50. 47, 876. 3| HEAK I A%E
111.3 4 ~ 3. 2.
Ry s AR H HRT 7. 2. 0. 00 150. 0. 150. 48, 026. 3| HEAK I A%E
111.3 54 ~ 7. 2.
Ry LI AR H HIRT 7. 1. 3. 00 100. 0. 100. 48, 126. 3| HEAK I A%E
111.4 97 ~ 7. 2. 1.
Ry s AR H HRT 7. 1. 1. 00 1. 100. 0. 100. 48, 226. 3| HEAK I A%E
111.5 96 ~ 7. 2. 0.
Ry s AR H HIRT 7. 1. 3. 00 1. 123. 0. 123. 48, 349. 3| HEAK I A%E
111.6 97 ~ 7. 2. 0.
Ky IR FLER A HIHT 7. 3. 3.00 L. 7. 0. 77. 48, 426. 3|7 A 7 7 )\ [
111.8 30 ~ 7. 2. 0.
Ky IR FLER A HIHT 7. 1. 3.00 L. 100. 0. 100. 48, 526. 3|7 A 7 7 )\ [
111.8 107 ~ 7. 2. 0.
Ry s AR H HRT 7. 1. 3.00 1. 108. 0. 108. 48, 634. 3| HEAK I A%E
111.9 97 ~ 7. 2. 0.
Koy WH FLAR A HIHT 7. 1. 3.00 L. 44. 12. 57. 48, 691. 3|7 2 7 7 ) F s
112.1 7~ 7. 2. 0.
Koy IR FLAR A HIHT 7. 2. 3.00 0. 12. 0. 12. 48,703. 3|7 A 7 7 ) FédE
7. 2. 0.
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Ry s AR H HRT 7.00 2.00 7.00 100.0 0. 100. 50, 228. 3| 7 A2 7 7 /L iRk
113.6 0 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 4. 00 100. 0. 100. 50, 328. 3| 7 2 7 7 /L sk
113.7 0 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2. 50 3.00 100. 0. 100. 50, 428. 3| 7 A2 7 7 /L %k
113.8 0 ~ 7.00 2.50

Ry LI AR H HRT 7.00 2. 50 1. 50 100. 0. 100. 50, 528. 3| 7 A2 7 7 /L sk
113.9 0 ~ 7.00 2.50

Ry s AR H HRT 7.00 4. 50 2. 00 80. 0. 80. 50, 608. 3| 7 2 7 7 /L sk
114. 0 0 ~ 7.00 2.50

Ry s AR H HRT 7.00 4. 50 2. 00 48. 0. 48. 50, 656. 3| 7 2 7 7 /L iRk
114.0 80 ~ 7.00 2.50

Ry LI AR H HIRT 7.00 3.00 2. 00 72. 0. 72. 50, 728. 3| 7 A2 7 7 L ik
114.1 25 ~ 7.00 2.00

Ry s AR H HRT 7.00 3.00 4. 00 68. 38. 107. 50, 835. 3| 7 2 7 7 /L sk
114.1 97 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 5. 00 5. 34. 39. 50, 874. 3| 7 2 7 7 /L b &lidk
114.3 7 ~ 7.00 2.00

Ry s AR H HIRT 7.00 4. 00 5. 00 54. 0. 54. 50, 928. 3|HEAKPEAHLE
114.3 46 ~ 7.00 2.00

Ry i AR H HIRT 7.00 2.00 3.50 100. 0. 100. 51, 028. 3|HEAKPEAHLE
114.4 0 ~ 7.00 2.00

Ry s AR H HRT 7.00 2.00 1. 00 100. 0. 100. 51,128.3|7 2 7 7 /L sk
114.4 100 ~ 7.00 2.50

Ry s AR H HRT 7.00 3.00 1. 50 110. 0. 110. 51, 238. 3|HEAKPEAHLE
114.6 11 ~ 7.00 2.00

Ry i AR H HRT 7.00 2.00 2. 00 75. 0. 75. 51, 313. 3|HEAKMEAHLE
114.7 5 ~ 7.00 2.00
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Ry s AR H HRT 7.00 2.00 1.50 115.0 0. 115. 51, 428. 3|HEAKPEAHLE
114.7 80 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 1.50 122. 0. 122. 51, 550. 3|HEAKPEAHLE
114.9 2 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 2. 00 -0. 6. 6. 51, 556. 3| HEAKPEAHLE
115.0 22 ~ 7.00 2.00

Ry LI AR H HRT 7.00 2.00 1. 50 72. 0. 72. 51, 628. 3|HEAKPEAHLE
115.0 28 ~ 7.00 2.00

Ry s AR H HRT 7.00 2.00 1. 30 100. 0. 100. 51, 728. 3|HEAKPEAHLE
115. 1 12 ~ 7.00 2.00

Ry s AR H HRT 7.00 2.00 1.50 100. 0. 100. 51, 828. 3|HEAKPEAHLE
115.2 4 ~ 7.00 2.00

Ry LI AR H HIRT 7.00 2.25 1. 30 100. 0. 100. 51, 928. 3|HEAKPEAHLE
115.2 104 ~ 7.00 2.00

K5y IR FLER A HIHT 7.00 2.00 1.50 110. 0. 110. 52, 038. 3|HEAKPEAHLE
115.4 2 ~ 7.00 2.50

Ry s AR H HIRT 7.00 2.20 1. 50 90. 0. 90. 52, 128. 3|HEAKPEAHLE
115.4 112 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 1. 50 91. 0. 91. 52, 219. 3|HEAKPEAHLE
115. 6 3 ~ 7.00 2.00

Ry i AR H HIRT 7.00 2.00 0. 00 0. 12. 12. 52, 231. 3|HEAKPEAHLE
115.7 4 ~ 7.00 2.75

Ry s AR H HRT 7.00 2.00 1. 50 97. 0. 97. 52,328. 3|7 2 7 7 /L iRk
115.7 16 ~ 7.00 3.50

Ry s AR H HRT 7.00 1. 00 1.50 100. 0. 100. 52, 428. 3| HEAKPEAHLE
115.8 0 ~ 7.00 3.50

Ry i AR H HRT 7.00 1. 00 1.00 100. 0. 100. 52, 528. 3|HEAKPEAHLE
115.9 3 ~ 7.00 3.50
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Koy W AR H T 7.00 1. 00 1. 40 1.00 100.0 0.0 0.0 100.0| 52, 628. 3|HE/k A%
116.0 0~ 116.1 10 7.00 1. 00 1. 00

Ry s AR H HIRT 7.00 2.00 1.50 1.00 55.0 0.0 0.0 55.0| 52, 683. 3|HE/ I AH%E
116. 1 10~ 116.1 65 7.00 3.50 1. 00

Koy W AR H T 7.00 2. 50 1.50 1.00 145.0 0.0 0.0 145.0| 52, 828. 3|HE/k A%
116.1 65~ 116.2 100 7.00 2.00 1. 00

Ry LI AR H HRT 7.00 2.00 1.60 1.00 98.0 0.0 0.0 98.0| 52, 926. 3|FE/k AL
116.2 100 ~ 116.3 98 7.00 3.50 1. 00

Ry s AR H HRT 7.00 1. 90 1. 40 1.00 60.0 0.0 0.0 60.0| 52, 986. 3|FE/k AL
116.4 0~ 116.4 60 7.00 2.00 1. 00

Koy W AR H T 7.00 3.50 1.50 1.00 140.0 0.0 0.0 140.0| 53, 126. 3|HE/k A%
116.4 60 ~ 116.6 1 7.00 3.50 1. 00

Koy W AR H T 7.00 2.00 1. 30 1.00 100.0 0.0 0.0 100.0| 53, 226. 3|HE/k A%
116.6 1~ 116.6 101 7.00 3.50 1. 00

Ry s AR H HRT 7.00 2.00 1.50 1.00 46.0 0.0 0.0 46.0| 53, 272. 3|HE/k AL
116.6 101 ~ 116.6 147 7.00 2.00 1. 00

Ry s AR H HIRT 7.00 3.00 1.50 1.25 11.0 0.0 0.0 11.0[ 53, 283. 3|HEAK ML
116.6 147 ~ 116.6 158 7.00 2.75 1. 50

Koy Wt AR H T 7.00 2.00 1.50 1.00 132.0 0.0 11.0 143.0| 53, 426. 3| ek A%
116.6 158 ~ 116.8 100 7.00 3. 40 1. 00

Ry i AR H HIRT 7.00 2.20 1.50 1.00 67.0 0.0 0.0 67.0| 53, 493. 3|k AL
116.9 0~ 116.9 67 7.00 2.00 1. 00

Ry s AR H HRT 7.00 2.00 1.50 1.00 0.0 0.0 36.0 36.0| 53, 529. 3|HEAK I AH%E
116.9 67 ~ 117.0 3 7.00 2.00 1. 50

Ry s AR H HRT 7.00 2.00 1.50 1.00 98.0 0.0 0.0 98.0| 53,627.3|7 A7 7L ik
117.0 3~ 117.1 1 7.00 2.00 1. 00

Ry i AR H HRT 7.00 2.00 1.50 1.00 99.0 0.0 0.0 99.0| 53, 726. 3|k AL
117. 1 1~ 117.1 100 7.00 2.00 1. 00




I

%ok -
A4+ 0010 B5E
7} B
X ] (BBt ol TE:T M) m SENNIE & & T O FE AR
HOGE | B O | R B i
m

Ry s AR H HRT 7.00 2.00 1.75 100.0 0. 100. 53, 826. 3|HEAKPEAHLE
117.2 0 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 1. 50 66.0 0. 66. 53, 892. 3|HEAKPEAHLE
117.2 100 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 1. 50 84.0 0. 84. 53, 976. 3| HEAKPEAHLE
117.3 65 ~ 7.00 2.00

Ry LI AR H HRT 7.00 2.00 1. 00 0.0 15. 15. 53,991. 3|7 2 7 7 /L %k
117.4 83 ~ 7.00 2.00

Ry s AR H HRT 7.00 2.00 1. 00 102.0 0. 102. 54, 093. 3| 7 2 7 7 /L &%k
117.4 98 ~ 7.00 2.00

Ry s AR H HRT 7.00 2.00 1.70 98.0 0. 98. 54, 191. 3|HEAKPEAHLE
117.5 100 ~ 7.00 2.00

Ry LI AR H HIRT 7.00 2.00 1. 40 100.0 0. 100. 54, 291. 3|HEAKPEAHLE
117.7 0 ~ 7.00 2.00

Ry s AR H HRT 7.00 2.00 1. 40 98.0 0. 98. 54, 389. 3|HEAKPEAHLE
117.7 100 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 1.70 100.0 0. 100. 54, 489. 3|HEAKPEAHLE
117.9 0 ~ 7.00 2.00

Ry s AR H HIRT 7.00 2.00 1. 40 100.0 0. 100. 54, 589. 3|HEAKPEAHLE
118.0 0 ~ 7.00 2.00

Ry i AR H HIRT 7.00 2.00 1. 40 98.0 0. 98. 54, 687. 3| HEAKPEAHLE
118.0 100 ~ 7.00 2.00

Ry s AR H HRT 7.00 2.00 1. 50 98.0 0. 98. 54, 785. 3| HEAKPEAHLE
118.1 99 ~ 7.00 2.00

Ry s AR H HRT 7.00 2. 00 1. 50 90.0 0. 90. 54, 875. 3| HEAKMEAHLE
118.3 1 ~ 7.00 2.00

Ry i AR H HRT 7.00 2.00 1.50 110.0 0. 110. 54, 985. 3|HEAKMEAHLE
118.3 91 ~ 7.00 2.00
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Ry s AR H HRT 7. 2. 2. 00 91.0 0. 91. 55, 076. 3| HEAKPEAHLE
118.5 9~ 118 100 7. 2.

Ry s AR H HIRT 7. 2. 2. 00 100. 0. 100. 55, 176. 3 [HEAPEEfE
118.6 0~ 118 100 7. 2.

Ry s AR H HIRT 7. 3. 2. 00 100. 0. 100. 55, 276. 3 [HEA A
118.7 0~ 118 100 7. 3.

Koy BB T 7. 3. 2. 00 40. 0. 40. 55, 316. 3|HEA Al
118.8 0~ 118 40 7. 3.

Koy BB 7. 3. 2. 00 160. 0. 160. 55, 476. 3|HEAC Al
118.8 40 ~ 118, 99 7. 3.

KA BRI T 7. 2. 2. 00 42. 17. 60. 55, 536. 3 [HEAPEAZE
118.9 99 ~ 119, 60 7. 3.

Koy BB T 7. 2. 2. 00 15. 0. 15. 55, 551. 3|HEA Al
119.0 60 ~ 119, 75 7. 3.

Koy BB 7. 2. 2. 00 127. 0. 127. 55, 678. 3|HEA Al
119.0 75 ~ 119, 12 7. 3.

Koy BB T 7. 2. 2. 00 100. 0. 100. 55, 778. 3|HEA Al
119. 1 12 ~ 119 12 7. 3.

Koy BB T 7. 2. 2. 00 98. 0. 98. 55, 876. 3|HEA Al
119.2 12 ~ 119 1 7. 3.

Koy BB T 7. 2. 2. 00 106. 0. 106. 55, 982. 3|HEA Al
119.4 1~ 119, 5 7. 3.

Koy BB 7. 2. 2. 00 59. 0. 59. 56, 041. 3|HEAC A%k
119.5 5~ 119 0 7. 3.

Koy BB T 7. 2. 2. 00 100. 0. 100. 56, 141. 3|HEA A%k
119.6 0~ 119 100 7. 3.

Koy BB 7. 3. 2. 00 120. 0. 120. 56, 261. 3|HEAC A%k
119.7 0~ 119 20 7. 3.
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Koy BRI 7.00 6. 00 0.50 80.0 0. 80. 56, 341. 3|HEAKPEAHLE
119.8 20 119. 22 7.00 4. 00

Koy BRI 7.00 3.50 1.00 75.0 0. 75. 56, 416. 3| HEAKPEAHLE
119.9 22 120. 3 7.00 3.50

KA BRI T 7.00 3.50 1. 00 0.5 22. 23. 56, 439. 3 [HEAPEAZE
120. 0 3 120. 26 7.00 3.50

Koy BRI 7.00 3.50 1.00 101.0 0. 101. 56, 540. 3| HEAKPEAHLE
120.0 26 120. 27 7.00 3.50

Koy BRI 7.00 3.50 2.00 100.0 0. 100. 56, 640. 3|HEAKPEAHLE
120.1 27 120. 0 7.00 3.50

Koy BRI 7.00 3.50 2.00 100.0 0. 100. 56, 740. 3|HEAKPEAHLE
120. 2 0 120. 0 7.00 3.50

Koy BRI 7.00 3. 40 2.00 100.0 0. 100. 56, 840. 3|HEAKPEAHLE
120. 3 0 120. 0 7.00 3.50

Koy BRI 7.00 3.60 1.00 100.0 0. 100. 56, 940. 3|HEAKPEAHLE
120. 4 0 120. 100 7.00 3.50

Koy BRI 7.00 3.50 2.00 100.0 0. 100. 57, 040. 3|HEAKPEAHLE
120.5 0 120. 100 7.00 3.50

Koy BRI 7.00 3.70 2.00 100.0 0. 100. 57, 140. 3|HEAKPEAHLE
120. 6 0 120. 100 7.00 3.60

Koy BRI 7.00 3.50 2. 00 -73.2 152. 79. 57, 219. 3|HEAKMEALE
120. 7 0 120. 79 7.00 4. 00

KA BRI T 7.00 3.50 2. 00 -1.6 142. 141. 57, 360. 3 [HEAPEAZE
120.7 79 120. 20 7.00 3.80

Koy BRI 7.00 3.50 2.00 80.0 0. 80. 57, 440. 3| HEAKPEAHLE
120.9 20 121. 0 7.00 3.70

Koy BRI 7.00 4.00 2.00 100.0 0. 100. 57, 540. 3|HEAKPEHLE
121.0 0 121. 100 7.00 4. 00
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Koy BRI 7.00 4.00 2.00 100.0 0. 100. 57, 640. 3| HEAKPEHLE
121. 1 0 121. 100 7.00 4. 00

Koy BT 7.00 4. 00 2.00 81. 0. 81. 57, 721. 3[HEAPEEfE
121. 2 0 121. 81 7.00 4. 00

KA BRI T 7.00 4.00 2.00 0. 33. 33. 57, 754. 3| HEA Al
121.2 81 121. 13 7.00 4. 00

Koy BRI T 7.00 4. 00 2.00 87. 0. 87. 57, 841. 3[HEAPEEfE
121.3 13 121. 100 7.00 4. 00

Koy BB T 7.00 3.50 2.00 98. 0. 98. 57, 939. 3 [HEA A
121.3 100 121. 99 7.00 3.80

Koy BRI 7.00 3.50 2.00 100. 0. 100. 58, 039. 3|HEAKPEAHLE
121.5 0 121. 100 7.00 3.80

Koy BRI 7.00 3.50 2.00 100. 0. 100. 58, 139. 3|HEAKPEAHLE
121.6 0 121. 100 7.00 3.50

Koy BRI 7.00 3.50 2.00 100. 0. 100. 58, 239. 3|HEAKPEAHLE
121.7 0 121. 100 7.00 3.50

Koy BRI 7.00 3.50 2.00 100. 0. 100. 58, 339. 3|HEAKPEAHLE
121. 8 0 121. 100 7.00 3.20 1.

Koy BB T 7.00 2. 60 2. 00 1. 100. 0. 100. 58, 439. 3 [HEA PEAlZE
121.9 0 121. 100 9.75 2. 00 0.

Koy BB T 9.75 2. 60 1. 50 0. 100. 0. 100. 58, 539. 3 [HEAPEAlZE
121.9 100 122. 86 9.75 2. 50 0.

Koy BRI 9.75 2.60 1.50 1. 45. 0. 45. 58, 584. 3|HEAKMEAHLE
122.0 86 122. 32 9.75 3.70 0.

Koy BB T 9.75 2. 50 1. 50 0. 155. 0. 155. 58, 739. 3 [HEAPEAZE
122.1 32 122. 90 9.75 2. 50 0.

Koy BRI 9.75 2.70 1.50 0. 80. 0. 80. 58, 819. 3 [HEAK P
122.2 90 122. 67 9.75 2. 50 0.
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Koy BB T 9.75 2. 60 1. 50 0. 120.0 0. 120. 58, 939. 3 [HEAPEAfZE
122.3 67 122. 95 9.75 2.80 0.

Koy BT 9.75 2. 40 1.50 0. 52. 0. 52. 58, 991. 3 [HEA P&
122.4 95 122. 49 9.75 2.80 0.

Koy BB T 9.75 2. 60 1. 50 0. 148. 0. 148. 59, 139. 3 [HEAPEAfZE
122.5 49 122. 97 9.75 2.80 0.

Koy BB T 9.75 2. 60 1. 50 0. 100. 0. 100. 59, 239. 3 [HEA PR 2L
122.6 97 122. 5 9.75 2.80 0.

Koy BB 9.75 2. 50 1. 50 0. 100. 0. 100. 59, 339. 3 [HEAPEAZE
122. 8 5 122. 105 9.75 2.70 0.

Koy BRI 9.75 2.70 1.50 0. 75. 0. 75. 59, 414. 3[HEAPEEfE
122.8 105 122. 76 9.75 2.90 0.

Koy BB T 9.75 2. 60 1. 50 0. 125. 0. 125. 59, 539. 3 [HEAPEAfZE
122.9 76 123. 90 9.75 2. 60 0.

Koy BB 9.75 2. 40 1. 50 0. 111. 0. 111. 59, 650. 3 [HEAPEAfZE
123.0 90 123. 11 9.75 2.80 0.

KA BRI T 9.75 3.70 1.50 0. 0. 33. 34. 59, 684. 3|HEA A%k
123. 2 11 123. 45 9.75 4.00 0.

Koy BB 9.75 2. 60 1.50 0. 46. 0. 46. 59, 730. 3 [HEA P&
123.2 45 123. 91 9.75 2. 60 0.

Koy BB T 9.75 2.80 1. 50 0. 100. 0. 100. 59, 830. 3 [HEAPEAfZE
123.3 0 123. 23 9.75 2. 60 0.

Koy BRI 9.75 2. 50 1. 50 0. 100. 0. 100. 59, 930. 3 [HEAPEAfZE
123.4 23 123. 123 9.75 2. 60 0.

Koy BB T 9.75 2. 70 1. 50 0. 100. 0. 100. 60, 030. 3| HEACHEAH%E
123.4 123 123. 91 9.75 2. 60 0.

Koy BRI 9.75 2.60 1.50 0. 96. 3. 100. 60, 130. 3| A MhEhdk
123.5 91 123. 84 9.75 2. 60 0.
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Koy BB T 9.75 2. 60 1.50 0. 100.0 100. 60, 230. 3[HEK MEA%E
123.6 84 123. 184 9.75 2. 40 0.

Koy BT 9.75 2.70 1.50 0. 100. 100. 60, 330. 3|HEA I A%E
123.6 184 123. 36 9.75 2. 40 0.

Koy BRI T 9.75 2. 60 1.50 0. 100. 100. 60, 430. 3|HEAK I A%E
123.8 86 123. 98 9.75 2.50 0.

Koy BRI T 9.75 2. 50 1.50 0. 100. 100. 60, 530. 3|HEAK I A%E
123.9 98 124. 98 9.75 2.70 0.

Koy BB T 9.75 2. 50 0. 00 0. 100. 100. 60, 630. 3| HE/K I A%E
124. 1 0 124. 100 9.75 2.50 0.

Koy BRI 9.75 2. 50 1.50 0. 100. 100. 60, 730. 3| HEAK I A%E
124.1 100 124. 200 9.75 2.50 0.

Koy BB 9.75 2.80 0. 00 0. 100. 100. 60, 830. 3|HEAK I 4%E
124.1 200 124. 97 9.75 2.70 0.

Koy BRI 9.75 2.80 0. 00 0. 100. 100. 60, 930. 3|HEAK I A%E
124.3 97 124. 11 9.75 2. 60 0.

Ko BB 9.75 2. 50 1.50 0. 100. 100. 61, 030. 3|HEA I A%E
124. 5 11 124. 111 9.75 2.50 0.

Koy BB 9.75 2. 50 0. 00 0. 98. 98. 61, 128. 3| HEAK A%
124.5 111 124. 2 9.75 2.50 0.

Koy BB T 9.75 2. 50 1.50 0. 94, 100. 61, 228. 3| HEAK I A%E
124.7 2 124. 9 9.75 2.50 0.

Koy BB 9.75 2. 50 1.50 0. 100. 100. 61, 328. 3| HEA I A%E
124. 8 9 124. 109 9.75 2.50 0.

Koy BB 9.75 2. 50 1.50 0. 100. 100. 61, 428. 3|HEAK I A%E
124.9 0 125. 6 9.75 2.50 0.

Koy BRI 9.75 2. 50 0. 00 0. 100. 100. 61, 528. 3| HEAK 1A%
125.0 6 125. 22 9.75 2.50 0.
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Ko BRI 9.75 2. 0. 00 0. 100. 0 0. 100.0| 61, 628. 3|HE/k A%
125.1 22 125. 40 9.75 2. 0.

KA BRI T 9.75 3. 1.50 0. 4.0 45. 49. 61, 677. 3| HEAk L%
125.2 40 125. 89 9.75 2. 0.

Koy BRI 9.75 3. 1.50 0. 45.0 0. 45. 61, 722. 3| Ak MhEhA
125.2 89 125. 15 9.75 3. 0.

Koy BRI 9.75 3. 1.50 0. 58.0 0. 58. 61, 780. 3|k Ml
125.3 15 125. 77 9.75 2. 0.

Koy BRI 9.75 2. 1.50 0. 148.0 0. 148. 61, 928. 3|k Ml
125.3 17 125. 100 9.75 2. 0.

Koy BRI 9.75 2. 1.50 0. 100.0 0. 100. 62, 028. 3| Ak Ml
125.4 100 125. 98 9.75 2. 0.

Koy BRI 9.75 2. 0.00 0. 100.0 0. 100. 62, 128. 3| Ak Ml
125.5 98 125. 90 9.75 2. 0.

Koy BRI 9.75 2. 1.50 0. 45.0 0. 45. 62, 173. 3| Pk Mhhdk
125.6 90 125. 38 9.75 2. 0.

Koy BRI 9.75 2. 1.50 0. 155.0 0. 155. 62, 328. 3|k MEEhdk
125.7 38 125. 89 9.75 2. 0.

Koy BRI 9.75 2. 0.00 0. 115.0 0. 115. 62, 443. 3| PEA MEEhAE
125.8 89 126. 5 9.75 2. 0.

Koy BRI 9.75 2. 0.00 0. 65.0 0. 65. 62, 508. 3| Pk Ml
126. 0 5 126. 70 9.75 2. 0.

Koy BRI 9.75 2. 0.00 0. 120.0 0. 120. 62, 628. 3| Pk Ml
126.0 70 126. 96 9.75 2. 0.

Koy BRI 9.75 4. 1.50 0. 45.0 0. 45. 62, 673. 3| PEAk MhEhA
126. 2 0 126. 45 9.75 2. 0.

Koy BRI 9.75 4. 0.00 0. 155.0 0. 155. 62, 828. 3| Ak Mk
126.2 45 126. 99 9.75 3. 0.
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Koy BRI 9.75 4.00 1.50 100.0 0. 100. 62, 928. 3| Pk Ml
126.3 99 126. 97 9.75 2. 90

Koy BT 9.75 4. 00 1.50 88. 0. 88. 63, 016. 3| HEA 1A%
126.4 97 126. 11 9.75 2.70

Koy BRI T 9.75 4.70 0. 00 96. 0. 96. 63, 112. 3| HEA 4%
126.6 11 126. 107 9.75 3.95

Koy BRI 9.75 2.75 1.50 115. 0. 115. 63, 227. 3| Pk MEEhA
126.6 107 126. 8 9.75 3.65

Koy BB T 9.75 4. 00 1.50 60. 0. 60. 63, 287. 3| HE/K 1A%
126. 8 8 126. 68 9.75 2. 40

Koy BRI 9.75 2.50 1.50 160. 0. 160. 63, 447. 3| Pk MEEhA
126.8 68 127. 18 9.75 2. 60

Koy BB 9.75 2. 50 1.50 55. 0. 55. 63, 502. 3| HE/K 1A%
127.0 18 127. 73 9.75 2. 50

Koy BRI 9.75 2.50 1.50 125. 0. 125. 63, 627. 3| PEAk Ml
127.0 73 127. 91 9.75 2.70

Koy BRI 9.75 2.70 1.50 100. 0. 100. 63, 727. 3| Pk MEEhd
127.1 91 127. 94 9.75 3.10

KA BRI T 9.75 3.50 1. 50 -18. 34. 16. 63, 743. 3| HEACIHEAR%E
127.2 94 127. 0 9.75 3.30

Koy BB T 9.75 3.50 1.50 34, 0. 34, 63, 777. 3| HEAK A%
127.3 0 127. 34 9.75 3.50

Koy BRI 9.75 2.50 0. 00 40. 0. 40. 63, 817. 3| Ak Mkl
127.3 34 127. 74 9.75 2. 90

Koy BRI 9.75 2.60 1.50 110. 0. 110. 63, 927. 3| Pk Mh Al
127.3 14 127. 83 9.75 2. 80

Koy BRI 9.75 2.60 1.50 100. 0. 100. 64, 027. 3| Pk MEEhAk
127.4 83 127. 80 9.75 3.00
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A s 9.75 2. 1. 50 51.0 51. 64, 078. 3| A M2k
127.5 80 127. 42 9.75 2.

F 45 BRI R 9.85 3. 1. 50 149. 149. 64, 227. 3| A MEAfZE
127.6 42 127. 88 9.70 3.

K4S LRI T 10. 60 4. 1. 50 82. 82. 64, 309. 3| Pk V%L
127.7 88 127. 43 10. 60 2.

P AY s 9.50 5. 1. 50 118. 118. 64, 427. 3| A MEEfZE
127.8 43 127. 98 9.20 7.

pAY s 10. 50 5. 1. 50 100. 100. 64, 527. 3| A HEAZE
128.0 0 128. 100 10. 20 7.

F 4y BRI R 10. 50 7. 1. 50 100. 100. 64, 627. 3| A MEAfZE
128. 1 0 128. 100 10. 20 7.

KA BRI T 10. 40 4. 3. 00 1. 100. 100. 64, 727. 3| A MEAlZE
128.1 100 128. 99 10. 50 6. 3.

KA BRI T 10. 40 5. 3. 00 1. 100. 100. 64, 827. 3| A M2
128.3 0 128. 100 10. 50 7. 2.

K4S LRI T 10. 50 6. 0. 50 0. 52. 55. 64, 882. 3| Pk VAL
128.4 0 128. 55 13.35 7. 0.

Koy WKy 10. 40 5. 4. 00 0. 145. 145. 65, 027. 3| Pl M2k
128.4 55 128. 100 10. 50 7. 0.

Koy WKy 10. 40 10. 1. 00 1. 100. 100. 65, 127. 3| Pl M2k
128. 6 0 128. 100 10. 40 5. 1.

Koy WKyl 10. 40 3. 1. 00 100. 100. 65, 227. 3| A M2k
128.7 0 128. 100 10. 40 5.

Koy WK orih 10. 40 4. 1.00 100. 100. 65, 327. 3| 7 A 7 7 /L [k
128.8 0 128. 100 10. 50 5.

Koy WK orih 10. 40 3. 1.00 100. 100. 65, 427. 3| 7 A 7 7 )L [k
128.8 100 129. 1 10. 50 5.
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Koy W Ry h 10. 50 1.50 2.50 100.0 0.0 100. 65, 527. 3Pk MhEaaE
129.0 1 129. 101 10. 40 5. 00

Koy W Ry h 10. 50 3. 00 3.00 100. 0.0 100. 65, 627. 3| HEK MEaHLE
129.0 101 129. 99 10. 50 5. 00

Koy W Ry h 10. 50 2.50 1.00 100. 0.0 100. 65, 727. 3|Hek ML
129. 1 99 129. 12 10. 40 5. 00

Koy W Ry h 10. 50 2. 50 1. 00 100. 0.0 100. 65, 827. 3|HE K MhaaE
129.3 12 129. 1 10. 50 5. 00

Koy W Ry h 10. 50 2. 50 1. 00 100. 0.0 100. 65, 927. 3|HE/K MhaaE
129. 4 1 129. 3 10. 40 5. 00

Koy W Ry h 10. 50 2.00 1.50 100. 0.0 100. 66, 027. 3[HlE/K MEaas
129.5 3 129. 4 10. 40 5. 00

Koy W Ry h 10. 40 2.00 1. 00 100. 0.0 100. 66, 127. 3|HEk Mhamas
129. 6 4 129. 2 10. 40 7.00

Koy W R oyh 10. 40 1. 50 1. 00 100. 0.0 100. 66, 227. 3|HEK MEaHLE
129.7 2 129. 1 10. 50 7.00

Koy W Ry h 10. 50 1. 50 1. 00 100. 0.0 100. 66, 327. 3|HEK Mhanas
129. 8 1 129. 0 10. 40 7.00

Koy W Ry h 10. 50 1. 50 1. 00 100. 0.0 100. 66, 427. 3|HEK MEaHaE
129.8 101 130. 0 10. 50 7.50

Koy W Ry h 10. 50 1.50 1. 00 100. 0.0 100. 66, 527. 3| HEK MEaHaE
130.0 32 130. 0 10. 50 7.00

Koy W Ry h 10. 50 3. 50 3.00 135. 0.0 135. 66, 662. 3 [HEK MEaHsE
130. 1 0 130. 35 13.13 6. 50

Koy W Ry h 10. 50 4.50 0. 50 65. 0.0 65. 66, 727. 3|HEk AL
130. 2 35 130. 0 18. 80 7.50

Koy W Ry h 14.78 3. 00 0. 50 100. 0.0 100. 66, 827. 3|HlE K MhaaL
130. 3 0 130. 0 10. 50 6. 00
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R WRSy 10. 50 4. 1. 50 100. 0 100. 66, 927. 3 [HEA M Ali%E
130. 4 0 130. 96| 10.50 7,

NN ) 10. 50 4. .50 100. 100. 67, 027. 3 [HEA M Ali%E
130.4 96 130. 94| 10.50 8.

NN ) 10. 50 5. .50 102. 102. 67, 129. 3 [ A%
130.5 94 130. 95 10. 50 8.

NGV N 10. 50 3. .50 100. 100. 67, 229. 3 [HEA M Ali%E
130.6 95 130. 95 10. 50 8.

ROy WRSy 10. 50 3. .50 100. 100. 67, 329. 3| M Ali%E
130.7 95 130. 98 10. 50 8.

NN ) 10. 50 4. .50 100. 100. 67, 429. 3 [HEA M Al%E
130.8 98 130. 98 10. 50 8.

NN ) 10. 50 5. .50 71. 71. 67, 500. 3 [FEA M Ali%E
130.9 98 131. 66|  10.50 7.

ROy WERSy 10. 50 7. .00 89. 89. 67, 589. 3 [ M Ali%E
131.0 66 131. 60|  10.50 8.

NN N 10. 50 8. .00 160. 160. 67, 749. 3 [HEA M Ali%E
131.1 60 131. 19]  10.50 6.

NN ) 10. 50 7. .00 80. 80. 67, 829. 3 [ M Ali%E
131.3 19 131. 99| 10.50]  12.

Ry WRSy 10. 50 3. .70 100. 100. 67, 929. 3 [FEA M Ali%E
131.3 99 131. o 10.50 7.

NN ) 10. 50 3. .40 100. 100. 68, 029. 3 [t Ali%E
131.5 0 131. o 10.50 7, 1.

NN ) 10. 50 3. .50 1. 100. 100. 68, 129. 3 [ M Ali%E
131. 6 0 131. o 10.50 7, 0.

NN ) 10. 50 3. .90 1. 100. 100. 68, 229. 3 [HEA M Ali%E
131.7 0 131. o 10.50 6. 1.
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Koy RSy 10. 50 2.50 6. 00 100. 0 100. 68, 329. 3| Ak PEAH%E
131. 8 0 131. 10. 50 7.10

PNl PNl 10. 50 3.00 6.70 100. 100. 68, 429. 3| P Mk Ehdk
131.9 0 132. 11. 50 7.10

PNl PN 10. 50 3.70 8.80 100. 100. 68, 529. 3| Pk MEEhdk
132.0 0 132. 10. 50 7.00

Koy RSy 10. 50 3.10 8.50 100. 100. 68, 629. 3| Pk Mk
132. 1 0 132. 10. 50 5.90

PN PN 10. 50 3.60 8.40 100. 100. 68, 729. 3| Pk MEEhdk
132.2 0 132. 10. 50 6. 00

PN PNl 10. 50 3.70 8.50 100. 100. 68, 829. 3| Pk Ml
132.3 0 132. 10. 50 6. 00

Koy BRIy 10. 50 3.50 8.50 100. 100. 68, 929. 3| Pk Mkl
132. 4 0 132. 10. 50 6. 00

PN PNl 10. 50 3.10 5.70 100. 100. 69, 029. 3| Pk Mk
132.5 0 132. 10. 50 6. 00

NN N 10. 50 3.20 3.00 68. 68. 69, 097. 3 [HEA M Ali%E
132.6 0 132. 10. 50 7.50

PN PNl 10. 50 4.00 3.00 100. 100. 69, 197. 3| Pk MEEhdk
132.7 0 132. 10. 50 11.00

Koy RSy 10. 50 4.00 2.00 100. 100. 69, 297. 3| Pk Mkl
132.7 100 132. 10. 50 8. 00

NN ) 10. 50 4.00 2.00 19. 19. 69, 316. 3 [ M Ali%E
132.9 1 132. 10. 50 8. 00

NN ) 10. 50 4.00 2.00 81. 81. 69, 397. 3 [t Ali%E
132.9 20 132. 10. 50 8. 00

NN ) 10. 50 4.00 2.00 20. 20. 69, 417. 3 [t Ali%E
132.9 101 133. 10. 50 8. 00
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Koy WKy 10. 4. 2.00 80. 0 80. 69, 497. 3| HE/K I A%E
133.0 15 133. 2 10. 8.

Koy WK orih 10. 4, 2.50 100. 100. 69, 597. 3| A M2k
133. 1 133. 102 10. 8.

Koy WKl 10. 4. 1. 00 100. 100. 69, 697. 3| A A2
133.1 102 133. 2 14. 8.

Koy WK orih 14. 4. 3.50 100. 100. 69, 797. 3| A M2
133.3 133. 3 10. 8.

Koy WK orih 10. 3. 1.50 100. 100. 69, 897. 3| Pl M2k
133.4 133. 3 10. 8.

Koy WK orih 10. 4. 2.00 47. 47. 69, 944. 3| A MEAZE
133.5 133. 50 10. 8.

Koy WKyl 10. 4, 2.00 72. 72. 70, 016. 3| HEAKPEEHLE
133.5 50 133. 2 10. 8.

Koy WK orih 10. 4, 2.00 100. 100. 70, 116. 3| HEAKPEEHLE
133.6 133. 102 10. 8.

Koy WKy 10. 4. 2.00 100. 100. 70, 216. 3| HEAKPEEHLE
133.6 102 133. 3 10. 8.

Koy WKy 10. 4. 2.00 100. 100. 70, 316. 3| HEAKMEEHLE
133.8 133. 2 10. 8.

Koy WKy 10. 4. 2.00 100. 100. 70, 416. 3| HEAKPERHLE
133.9 134. 3 10. 8.

Koy WKyl 10. 3. 2.00 100. 100. 70, 516. 3| HEAKPEEHLE
134. 0 134. 3 10. 8.

Koy WK orih 10. 4. 2.00 100. 100. 70, 616. 3| HEAKPEEHLE
134. 1 134. 3 10. 8.

Koy WK orih 10. 4. 2.00 100. 100. 70, 716. 3| HEAKMERHLE
134. 2 134. 7 10. 7.
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Koy W Ry h 10. 50 3. 00 2.00 94. 0 6. 100. 70, 816. 3|HEA AR
134.3 134. 8 10. 50 7. 50

Koy W Ry h 10. 50 4,00 2.00 100.0 0. 100. 70, 916. 3| HEKPEAHLE
134. 4 134. 4 10. 50 7. 50

Koy W Ry h 10. 50 5. 50 2.00 100.0 0. 100. 71, 016. 3| HEKPEAHLE
134.5 134. 7 10. 50 8.00

Koy W Ry h 10. 50 5. 00 2.00 100.0 0. 100. 71, 116. 3|HEKPEAHLE
134. 6 134. 8 10. 50 6. 50

Koy W Ry h 10. 50 3. 50 2.00 100.0 0. 100. 71, 216. 3| HEKPEAHLE
134.7 134. 8 10. 50 6. 50

Koy W Ry h 10. 50 2.50 2.00 2. 100.0 0. 100. 71, 316. 3| HEKPEAHLE
134. 8 134. 108 10. 50 7.00 0.

Koy R Ry 9.75 2. 40 1. 50 0. 100.0 0. 100. 71, 416. 3|7 2 7 7 /L Mk
134.9 134. 100 9.75 3. 20 0.

Koy R KRy 9.75 2. 40 2.00 0. 100.0 0. 100. 71,516. 3|7 2 7 7 /L Mk
135.0 135. 0 9.75 2. 80 0.

Koy R KRy 9.75 2.20 2.00 0. 73.8 26. 100. 71, 616. 3|7 2 7 7 /L Midk
135. 1 135. 0 9.75 3. 00 0.

Koy W Ry h 9.75 2.20 2.00 0. 100.0 0. 100. 71, 716. 3|HEKPEAHLE
135.2 135. 11 9.75 3. 00 0.

Koy W Ry h 9.75 2.20 3.00 0. 100.0 0. 100. 71, 816. 3|HE/KPEAHLE
135.3 135. 111 9.75 3.70 0.

Koy W Ry h 9.75 2.00 2.00 0. 100.0 0. 100. 71, 916. 3| HEKMEAHLE
135. 4 135. 100 9.75 3. 10 0.

Koy W Ry h 9.75 2. 40 0. 80 0. 100.0 0. 100. 72, 016. 3| HEKMEAHLE
135. 4 135. 200 9.75 2.20 0.

Koy W Ry h 9.75 2.20 2.00 0. 100.0 0. 100. 72, 116. 3|HEKPEAHLE
135. 6 135. 100 9.75 2.30 0.
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o 9.75 2. 2 :
0 135. 100 9.7 N o
Koy R Ry - 3 . . m
. O 135 . 2. - ) 72, 216. 3| HEK AL
| - ) 100.
i 9.75 2. -
- O 135 . 2. - ) 72, 316. 3| HEK PEAHEE
| - ) 100.
i 9.75 2. -
- O 136 . ; - ) 72, 416. 3| HEK PEAHEE
| - ) 100.
e 9.75 2. -
- O 136 . 2. - ) 72, 516. 3| HEK PEAHEE
| - ) 100.
il 9.75 2. - 7
. ) 2,616.3 :
136. 2 0 136. 85 . - ) o
el 6. 50 4, | ) 7
. ) 2, 701.
136'2 85 136 1 0 4. - . [T AT v A
.z 6. 50 4, | - 7
s ) 2,816.3 :
136. 4 1 136. 106 6 . o " e
Koy R KRy = . . - 7
: ) 2,921.
136.4 106 136 97 . . o ) s
L 6. 50 4, | ) 7
. ) 3, 016.
136.5 97 136 : ) - o
e ) 72 6. 50 4 B
> ' 90 73
. ) , 106.
136. 6 72 136 93 : . o v o
Lt 6. 50 4, | - 7
. ) 3, 216.
136.7 93 136 1 : . o v o
Ll 6. 50 4, | - 7
s ) 3,316.3 :
136.9 1 136. 101 . - v o
P 6. 50 4, | - 7
: ) 3,4
s ; 4. - 16.3|7 27 7 /L sk
137 19
) 6. 50 4, B
36.
73, 452. 3|7 A 7 7 )L Ak
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Koy R KRGy 6. 50 6. 00 0. 00 13.0 0. 13. 73, 465. 3|7 A 7 7 L Nk
137.0 19 137. 32 6. 50 5. 50

Koy R Ry 6. 50 4. 40 1. 50 139.5 12. 152. 73,617. 3|7 2 7 7 /L Mk
137.0 32 137. 98 6. 50 4,40

Koy R Ry 6. 50 4. 40 0. 00 100.0 0. 100. 73, T17. 3|7 2 7 7 /L Mk
137. 1 98 137. 90 6. 50 4,40 1.

Koy W Ry h 6. 50 4. 40 1. 00 1. 100.0 0. 100. 73, 817. 3| HE/K LAk LE
137.2 90 137. 97 6. 50 4. 40 0.

Koy W Ry h 6. 50 3. 60 1.50 1. 100.0 0. 100. 73, 917. 3| HEK LA LE
137.3 97 137. 95 6. 50 4,40 1.

Koy W Ry h 6. 50 4. 40 2.00 100.0 0. 100. 74, 017. 3| HEKPEAHLE
137.4 95 137. 90 6. 50 4,20 1.

Koy W Ry h 6. 50 4. 40 2.00 1. 100.0 0. 100. 74, 117. 3| HEKPEAHLE
137.5 90 137. 91 6. 50 4. 40 0.

Koy W R oyh 6. 50 3. 00 1.80 1. 45.0 0. 45. 74, 162. 3|HEA M AAE
137.6 91 137. 44 6. 50 4,90 1.

Koy W Ry h 9.50 3. 00 1. 00 155.0 0. 155. 74, 317. 3| HEAKPEAHLE
137.7 44 137. 100 11.00 4,90 1.

Koy W Ry h 9.75 3.10 1. 00 1. 100.0 0. 100. 74, 417, 3| HEKPEAHLE
137.8 100 138. 5 9.75 3. 00 0.

Koy W Ry h 9.75 3.10 1. 00 1. 100.0 0. 100. 74, 517. 3| HEAKPEAHLE
138.0 5 138. 18 9.75 3. 00 0.

Koy W Ry h 9.75 3.10 1.50 0. 100.0 0. 100. 74, 617. 3|HEKMEAHLE
138. 1 18 138. 5 9.75 3. 00 0.

Koy W Ry h 9.75 3.10 0. 00 0. 55. 0 0. 55. 74, 672. 3|HEA MR
138.2 5 138. 60 9.75 3. 00 0.

Koy W Ry h 9.75 3.10 0. 00 0. 145.0 0. 145. 74, 817. 3| HEKMEAHLE
138.2 60 138. 101 9.75 3. 00 0.
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Koy W Ry h 9.75 3. 1.50 100.0 0.0 100. 74, 917. 3|HEA ML
138.3 101 138. 9.75 3.

Koy W Ry h 9.75 3. 2.00 100. 0.0 100. 75, 017. 3|HEA Ak
138.4 99 138. 9.75 3.

Koy W Ry h 10. 05 3. 1. 60 100. 0.0 100. 75, 117. 3|HEA M A
138.6 138. 10. 50 3.

Koy W Ry h 11.05 3. 0. 00 100. 0.0 100. 75, 217. 3|HEA M A
138.7 138. 11. 05 3.

Koy W Ry h 11.46 7. 0. 00 100. 0.0 100. 75, 317. 3|HEA A
138.8 138. 11. 46 3.

Koy W Ry h 9.71 3. 0. 00 100. 0.0 100. 75, 417. 3|HEA AR
138.9 139. 11. 42 3.

Koy W Ry h 10. 97 3. 0. 00 89. 0.0 89. 75, 506. 3|HEA A
139. 0 139. 12. 38 3.

Koy W R oyh 12.34 5. 1.00 100. 0.0 100. 75, 606. 3|HEA AR
139. 1 139. 6.61 5.

Koy W Ry h 8.37 5. 1. 00 100. 0.0 100. 75, 706. 3|HEA Ak
139. 2 139. 8.37 5.

Koy W Ry h 6.71 4. 5. 00 100. 0.0 100. 75, 806. 3|HEA Ak
139. 3 139. 6.73 4.

Koy W Ry h 6.73 5. 4.00 100. 0.0 100. 75, 906. 3|HEA Ak
139. 4 139. 6. 75 5.

Koy W Ry h 9.96 5. 1.50 100. 0.0 100. 76, 006. 3|HEA A
139. 5 139. 6. 72 5.

Koy W Ry h 6.71 11. 0. 00 100. 0.0 100. 76, 106. 3|HEA A
139.6 139. 9.92 6.

Koy W Ry h 6. 69 2. 0. 00 100. 0.0 100. 76, 206. 3|HEA AL
139.7 139. 3. 44 5.
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Koy W Ry h 3.25 1. 00 0. 00 0. 50 37.4 0.0 0.0 37.4| 76, 243, 7|HEAKMEAHLE
139. 8 0~  140.2 0 3. 24 2.00 0. 50

Koy R Ry 3.25 2.10 0. 00 0. 50 80. 0 0.0 0.0 80.0|  76,323. 7|7 A2 7 7L Midk
140. 2 0~  140.2 80 3.25 2.30 0. 50

Koy R Ry 3.25 1. 60 0. 00 0.55 110.0 0.0 0.0 110.0| 76,433, 7|7 2 7 7 /L Mfidk
140. 2 80 ~  140.3 97 3.25 2.30 0.55

Koy R Ry 3.25 4. 50 0. 00 0. 80 90. 0 0.0 0.0 90.0| 76,523. 7|7 &2 7 7 /L Nidk
140. 3 97 ~  140.4 79 3.25 2.50 0.55

Koy RR oy 3.25 2.50 0. 00 2.80 100.0 0.0 0.0 100.0|  76,623. 7|7 &2 7 7 L sk
140. 4 79 ~  140.6 6 3.25 2.70 0. 50

Koy W Ry h 3.25 3. 30 0. 00 1.70 114.0 0.0 0.0 114.0| 76, 737. 7|47z o B Ak
140. 6 6~  140.7 10 3.25 4,00 0. 50

Koy W Ry h 3.25 2.90 0. 00 1.10 86. 0 0.0 0.0 86.0| 76, 823. 7|7 o A Ak
140. 7 10 ~  140.7 96 3.25 3. 40 0.55

Koy W R oyh 3.25 2.20 0. 00 0. 50 100.0 0.0 0.0 100. 0| 76, 923. 7| -7~ o I Atk
140. 7 96 ~  140.8 97 3.25 2.00 2.20

Koy W Ry h 3.25 1.95 0. 00 0. 50 100.0 0.0 0.0 100. 0| 77, 023. 7|47 do Btk
140. 8 97 ~  140.9 83 3.25 2. 60 0. 60

Koy W Ry h 3.25 2. 50 0. 00 0.75 100.0 0.0 0.0 100. 0| 77, 123. 7|7z do B Atk
140. 9 83 ~  141.0 93 3.25 5.10 0. 60

Koy W Ry h 3.25 1. 80 0. 00 0.70 48.0 0.0 0.0 48.0 77,171, 7|7 o B A
141.0 93 ~  141.1 41 3.25 2.00 0. 80

Koy W Ry h 3.25 1.75 0. 00 0.75 142.7 0.0 9.3 152.0| 77, 323. T|e7= o At ailidt
141. 1 41 ~  141.3 11 3.25 1.95 0.35

Koy W Ry h 3.25 1. 80 0. 00 0. 60 100.0 0.0 0.0 100. 0| 77, 423. 7|47 do B Ak
141.3 11~  141.3 111 3.25 2.00 0. 50

Koy W Ry h 3.25 0. 00 0. 00 1. 00 100.0 0.0 0.0 100. 0| 77, 523. 7|HE/K M4k
141.3 111 ~  141.4 95 3.25 1. 60 0. 60
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Koy RSy 3.25 0. 00 0. 00 0.0 77, 623. 7| HEA MG
141.4 95 141. 95 3.25 2. 30

Koy RSy 3.25 0. 00 0. 00 0.0 77, 723. 7| PR M
141.5 95 141. 89 3.25 2.10

Koy RSy 3.25 0. 00 0. 00 0.0 77, 823. 7| Pk M
141.6 89 141. 83 3.25 2. 00

Koy RSy 3.25 0. 00 0. 00 0.0 77, 923. 7| Pk M
141.8 0 141. 100 3.25 2. 80

Koy WRRGyH 3.25 0. 00 0. 00 0.0 78, 023. 7| Pk M
141.8 100 141. 96 3.25 3.80

Koy RSy 3.25 0. 00 0. 00 0.0 78, 123. 7| Pk M
141.9 96 142. 87 3.25 1. 90

Koy RSy 3.25 0. 00 0. 00 0.0 78, 223. 7| Pk M
142.0 87 142. 187 3.25 1. 90

Koy RSy 3.25 0. 00 0. 00 0.0 78, 323. 7| Pk Mk
142.0 187 142. 98 3.25 1. 50

Koy RSy 3.25 0. 00 0. 00 0.0 78, 423. 7| Pk M
142.2 98 142. 82 3.25 1. 50

Koy K5y 3.25 0. 00 0. 00 0.0 78, 532. 7| Pk Mk
142.3 82 142. 7 3.25 1. 50

Koy RSy 3.25 2. 00 0. 00 0.0 78, 562. 7| Pk M
142. 5 7 142. 37 3.25 2. 00

Koy R KRGy 3.25 3.10 0. 00 0.0 78, 623. T|HE K Mk
142.5 37 142. 98 3.25 3. 60

Koy RSy 3.25 1.70 0. 00 0.0 78, 723. 7| Pk M
142.5 98 142. 3 3.25 2. 40

Koy K5y 3.25 2. 40 0. 00 0.0 78, 793. T|HE K M Al
142. 7 3 142. 73 3.25 1. 40
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PNl N 3.25 1.70 0. 00 0. 70.0 70. 78, 863. 7|HEAKPEAHLE
142.7 73 3.25 3.20 0.
Koy WK orih 6. 50 2.00 0. 00 0. 83. 83. 78, 946. 7 [HEA A
142.8 40 6. 50 3.20 0.
Koy WKl 6. 50 2.30 0. 00 1. 96. 96. 79, 042. 7 [HEAPEEfE
142.9 23 6. 50 3.35 0.
Koy WK orih 6. 50 2.00 2.50 0. 1. 278. 79, 320. 7 [HEA A
143. 0 17 6. 50 3. 00 0.
Koy WK orih 6. 50 2.20 0. 00 2. 104. 104. 79, 424. 7|7 2 7 7 /v 1l
143.2 95 6. 50 2.00 0.
Koy WK orih 6. 50 2.20 0. 00 2. 100. 100. 79,524. 7|7 2 7 7 /v Il
143.3 86 6. 50 3. 45 0.
Koy WKyl 6. 50 2.50 0. 00 0. 100. 100. 79, 624. 7|7 2 7 7 )L Il
143.4 64 6. 50 1. 50 0.
Koy WK orih 6. 50 2.80 2. 00 0. 100. 100. 79, 724. 7|7 2 7 7 /v 1l
143.5 80 6. 50 1. 50 0.
Koy RRSy 6. 50 2.20 0. 00 0. 100. 100. 79, 824. 7|HEAKPEAHLE
143.6 89 6. 50 1. 70 0.
PN PNl 6. 50 3.00 0.50 0. 100. 100. 79, 924. 7|HEAKPEAHLE
143.7 90 6. 50 1. 60 0.
Koy RSy 6. 50 3.00 0.50 0. 100. 100. 80, 024. 7| HEAK Mk
143.8 90 6. 50 3.50 0.
PNl PNl 6. 50 4. 00 0. 00 0. 40. 40. 80, 064. 7| A Ml
143.9 98 6. 50 1.90 0.
PN PNl 6. 50 2.90 0.50 0. 160. 160. 80, 224. 7| HEAK Ml
144.0 38 6. 50 2.10 0.
PN Nl 6. 50 2.90 0. 00 0. 100. 100. 80, 324. 7| HEAK Mk
144.1 105 6. 50 2.40 0.
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PNl N 6. 50 2. 00 0.00 100.0 0. 100. 80, 424. 7| HEAK Ml
144.2 79 144. 97 6. 50 1.90

PNl PNl 6. 50 4. 60 0. 00 100. 0. 100. 80, 524. 7| /K PEAf%E
144.3 97 144. 95 6. 50 5.35

PNl PN 6. 50 2.95 1.00 75. 0. 75. 80, 599. 7| A Mkl
144.5 0 144. 75 6. 50 3.35

Koy RSy 6. 50 3.00 1.00 116. 0. 116. 80, 715. 7|/ PEAf%E
144.5 75 144. 85 6. 50 3.00

PN PN 6. 50 3. 00 0. 00 -0. 25. 25. 80, 740. 7|7 A 7 7 /L ik
144.6 85 144. 12 6. 50 3.00

PN PNl 6. 50 1.90 0. 00 76. 0. 76. 80, 816. 7| A Mk
144.7 12 144. 88 6. 50 2. 40

Koy BRIy 6. 50 1.90 0. 00 100. 0. 100. 80, 916. 7| /K PEAf%E
144.7 88 144. 88 6. 50 2. 90

PN PNl 6. 50 2.10 1.00 125. 0. 125. 81, 041. 7|/ PEAf%E
144.8 88 145. 28 6. 50 3.05

Koy RRSy 6. 50 1.80 1.00 75. 0. 75. 81, 116. 7|k Mhhidk
145.0 28 145. 103 6. 50 2. 00

PN PNl 6. 50 1.90 0. 00 100. 0. 100. 81, 216. 7| ek PEAf%E
145.0 103 145. 15 6. 50 2. 20

Koy RSy 6. 50 1.90 0. 00 0. 100. 0. 100. 81, 316. 7|/ PEAf%E
145.2 15 145. 115 6. 50 3.50 0.

PNl PNl 6. 50 1.90 1.50 0. 55. 0. 55. 81, 371. 7| HEAK Ml
145.2 115 145. 8 6. 50 3.00 0.

PN PNl 6. 50 1.90 1.50 0. 48. 0. 48. 81, 419. 7| P/ A%k
145.3 8 145. 0 6. 50 3.00 0.

PN Nl 6. 50 4.00 0.50 0. 100. 0. 100. 81, 519. 7|k PEAfi%E
145. 4 0 145. 0 6. 50 4. 00 0.
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Koy W Ry h 6. 50 4. 50 0. 50 0. 100.0 0.0 100. 81, 619. 7|HE/K Mhaas
145. 5 0 145. 0 6. 50 4. 50 0.

Koy W Ry h 6. 50 4.50 1.50 0. 35. 0.0 35. 81, 654. 7|HEk ML
145. 6 0 145. 35 6. 50 4. 50 0.

Koy W Ry h 6. 50 4.50 1.50 0. 40. 0.0 40. 81, 694. 7|HEk ML
145. 6 35 145. 75 6. 50 4. 50 0.

Koy W Ry h 6. 50 5. 50 1.50 0. 125. 0.0 125. 81, 819. 7|HE K MhaaL
145. 6 75 145. 0 6. 50 4. 00 0.

Koy W Ry h 6. 50 4.50 1.50 0. 60. 0.0 60. 81, 879. 7|HEk ML
145. 8 0 145. 60 6. 50 4. 00 0.

Koy W Ry h 6. 50 4. 50 1.50 0. 35. 0.0 75. 81, 954. 7|HE/k ML
145. 8 60 145. 35 6. 50 4. 00 0.

Koy W Ry h 6. 50 4.00 1.50 0. 42. 0.0 42. 81, 996. 7|HE/k ML
145. 9 35 145. 77 6. 50 4. 00 0.

Koy W R oyh 6. 50 4.00 1.50 0. 45. 0.0 45. 82, 041. 7|HE kML
145. 9 77 146. 22 6. 50 4. 00 0.

Koy W Ry h 6. 50 2.00 4. 50 0. 0. 0.0 35. 82, 077. 2|HEsk Mk
146. 0 22 146. 57 6. 50 4. 00 0.

Koy W Ry h 3.25 2. 50 0. 00 0. 142. 0.0 142. 82, 219. 7|HE Kk Mhaat
146. 0 57 146. 97 3.25 4. 00 0.

Koy W Ry h 3.25 1. 50 0. 00 0. 100. 0.0 100. 82, 319. 7|Hl/k Mhaat
146. 1 97 146. 2 3.25 2. 50 0.

Koy W Ry h 3.25 1. 50 0. 00 0. 100. 0.0 100. 82, 419. 7|HE K Mhaat
146. 3 2 146. 102 3.25 2. 50 0.

Koy W Ry h 3.25 2. 30 0. 00 0. 100. 0.0 100. 82, 519. 7|HE/k Mhaas
146.3 102 146. 1 3.25 0. 00 0.

Koy W Ry h 3.25 3.25 0. 00 0. 100. 0.0 100. 82, 619. 7|HE K Mhaat
146.5 1 146. 101 3. 50 3.50 0.
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PNl N 3.25 3. 0. 00 0. 100.0 100. 82, 719. 7| A Mkl
146.5 101 146. 3.25 3. 0.

PNl PNl 3.25 2. 0. 00 1. 100. 100. 82, 819. 7| HEA Mk
146.6 99 146. 3.25 2. 0.

PNl PN 3.25 2. 0. 00 1. 100. 100. 82, 919. 7| A Mkl
146.7 84 146. 3.25 2. 1.

Koy RSy 3.25 3. 0. 00 1. 100. 100. 83, 019. 7| Ak Mhhdk
146.8 99 146. 3.25 2. 5.

PN PN 3.25 3. 0. 00 0. 100. 100. 83, 119. 7| Ak Mk
146.9 92 147. 3.25 3. 0.

PN PNl 3.25 2. 0. 00 2. 100. 100. 83, 219. 7| Ak Ml
147.0 84 147. 3.25 1. 0.

Koy BRIy 3.25 2. 0. 00 0. 100. 100. 83, 319. 7| Ak Mk
147. 2 147. 3.25 1. 0.

PN PNl 3.25 0. 0. 00 1. 100. 100. 83, 419. 7| Ak Mk
147.2 102 147. 3.25 1.

Koy RRSy 3.25 0. 0. 00 1. 100. 100. 83, 519. 7| Ak Ml
147.3 92 147. 3.25 2. 0.

PN PNl 3.25 0. 0. 00 1. 100. 100. 83, 619. 7| Ak MhEhdk
147.4 90 147. 3.25 1.

Koy RSy 3.25 0. 0. 00 1. 100. 100. 83, 719. 7| Ak Ml
147. 6 147. 3.25 2. 0.

PNl PNl 3.25 0. 0. 00 0. 100. 100. 83, 819. 7| Ak Mk
147.6 101 147. 3.25 2. 0.

PN PNl 3.25 0. 0. 00 0. 100. 100. 83, 919. 7| Ak Mk
147. 8 147. 3.25 2. 0.

PN Nl 3.25 0. 0. 00 0. 100. 100. 84, 019. 7| Ak Ml
147.9 148. 3.25 2. 0.
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Koy W Ry h 3. 0. 0. 00 100.0 0. 100. 84, 119. 7|HE/k ML
148. 0 148. 1 3. 1.

Koy W Ry h 3. 0. 0. 00 100. 0. 100. 84, 219. 7|HEk ML
148. 1 148. 101 3. 2.

Koy W Ry h 3. 1. 0. 00 87. 12. 100. 84, 319. 7|Hek ML
148. 1 148. 201 3. 2.

KA LRSS 3. 0. 0. 00 100. 0. 100. 84, 419. 7|HEAK MEEf%E
148. 3 148. 8 3. 2.

Koy W Ry h 3. 0. 0. 00 63. 0. 63. 84, 482. 7|HE Ak ML
148. 4 148. 71 3. 4,

Koy R Ry 3. 0. 0. 00 -0. 24. 24. 84, 506. 7|7 2 7 7 )L ik
148. 4 148. 95 3. 1.

KA LRSS 3. 0. 0. 00 13. 0. 13. 84, 519. 7|HEAKMEEf%E
148. 4 148. 108 3. 1.

Koy W R oyh 3. 1. 0. 00 100. 0. 100. 84, 619. 7|HEk ML
148. 5 148. 100 3. 3.

Koy W Ry h 3. 0. 0. 00 100. 0. 100. 84, 719. 7|HEk Mgk
148. 5 148. 3 3. 1.

KA LRSS 3. 2. 0. 00 100. 0. 100. 84, 819. 7|HEAK MEEf%E
148. 7 148. 103 3. 2.

Koy W Ry h 3. 3. 0. 00 101. 0. 101. 84, 920. 7|HEAk ML
148. 8 148. 101 6. 4,

Koy W Ry h 6. 4. 3.00 94. 0. 94. 85, 014. 7|HE/k ML
148.9 148. 94 6. 3.

KA LRSS 7. 4. 0. 00 87. 30. 117. 85, 131. 7|#EAK MEfi%E
149. 0 149. 17 7. 5.

Koy W Ry h 7. 0. 0. 00 1. 51. 53. 85, 184. 7|HE/k ML
149. 1 149. 70 7. 3.




I

Sfifem — =
3k
A4 0010 Bl
e B
il (BB B, FE:T 0D m JENNAE R & T O FE AR
HOGE | B O | R OB i3
m

PNl N 7.00 4. 50 0.00 144.0 0. 144. 85, 328. 7| HE K Ml
149. 1 149. 4 7.00 3.60

PNl PNl 7.00 7.30 0. 00 0. 45. 45. 85, 373. 7| Ak Mhhdk
149. 3 149. 49 7.00 3.50

PNl PN 7.00 4.50 3.50 51. 0. 51. 85, 424. 7| Ak Mhhdk
149. 3 149. 100 7.00 5.00

PN Nl 7.00 4.00 2.80 100. 0. 100. 85, 524. T| e/ PEAf%E
149. 4 149. 100 7.00 3.50

PN PN 7.00 5.00 2.00 100. 0. 100. 85, 624. 7| e/ PEAf%E
149. 5 149. 100 7.00 3.50

PN PNl 6. 50 3. 40 4.30 69. 0. 69. 85, 693. 7| A Mkl
149. 6 149. 69 6. 50 4. 50

PN Nl 6. 50 2. 00 6. 70 -1. 293. 292. 85,985. 7|7 A 7 7 /L [fi%k
149. 6 149. 50 6. 50 3.50

PN PNl 6. 50 3.75 9. 00 50. 0. 50. 86, 035. 7| Mkl
149. 9 149. 100 6. 50 3.80

Koy RRSy 7.00 3.75 8.00 100. 0. 100. 86, 135. 7| P/ PEAf%E
150. 0 150. 100 7.00 3.80

PN PNl 7.00 3.75 4.00 100. 0. 100. 86, 235. 7|/ PEAf%E
150. 1 150. 100 7.00 3.80

Koy RSy 7.00 4.20 2.00 100. 0. 100. 86, 335. 7|/ PEAfLE
150. 2 150. 100 7.00 3.80

PNl PNl 7.00 4.00 2.00 100. 0. 100. 86, 435. 7|/ PEEfLE
150. 3 150. 100 7.00 3.80

FASEARAY 7. 00 4. 60 0. 00 82. 0. 82. 86, 517. 7|HEK LA %S
150. 4 150. 82 7.00 3.80

PN Nl 7.00 4. 60 2.00 118. 0. 118. 86, 635. 7| e/ PEAfLE
150. 4 150. 102 7.00 3.80
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Koy W Ry h 7.00 3. 0. 00 100. 0 100. 86, 735. 7|HEk ML
150. 6 0 150. 0 7.00 3.

Koy WK orih 7.00 4, 2.00 100. 100. 86, 835. 7| Pl Mz
150. 7 0 150. 0 7.00 3.

Koy WKl 7.00 3. 2.00 124. 124. 86, 959. 7| Pl M2k
150. 8 0 150. 24 7.00 3.

Koy WK orih 7.00 5. 2.00 76. 76. 87, 035. 7| Pl iz
150. 8 24 150. 0 7.00 2.

Koy WK orih 7.00 3. 2.00 100. 100. 87, 135. 7| Pl Mz
150. 9 0 151. 11 7.00 3.

Koy W Ry h 7.00 3. 2.00 85. 85. 87, 220. 7|HEk ML
151. 1 11 151. 96 7.00 3.

Koy W Ry h 7.00 3. 2. 00 115. 115. 87, 335. 7|HE/k ML
151. 1 96 151. 20 7.00 3.

Koy R KRy 7.00 3. 2.00 100. 100. 87,435. 7|7 2 7 7 v MajiidE
151.3 20 151. 14 7.00 5.

Koy R KRy 7.00 3. 0. 00 100. 100. 87,535. 7|7 2 7 7 v MajiidE
151. 4 14 151. 10 7.00 3.

Koy R Ry 7.00 3. 0. 00 100. 100. 87,635. 7|7 2 7 7 L ik
151.5 10 151. 110 7.00 3.

Koy R KRy 7.00 3. 0. 00 100. 100. 87,735. 7|7 2 7 7 v ik
151.5 110 151. 11 7.00 5.

Koy R Ry 7.00 3. 2.00 100. 100. 87,835. 7|7 2 7 7 v ik
151. 7 11 151. 9 7.00 3.

Koy R R 7.00 3. 2.00 79. 79. 87,914. 7|7 2 7 7 )L MajiidE
151.8 9 151. 88 7.00 3.

Koy R KRy 7.00 3. 2.00 21. 21. 87,935. 7|7 2 7 7 v Mk
151.8 88 151. 109 7.00 3.
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Koy R KRGy 7.00 3. 50 2.00 100.0 0.0 100. 88,035. 7|7 2 7 7 )L Mk
151.8 109 152. 7.00 3. 50
Koy R Ry 7.00 3. 50 2.00 100.0 0.0 100. 88, 135. 7|7 2 7 7 )L MajiidE
152.0 9 152. 7.00 3. 50
Koy R Ry 7.00 3. 50 0. 00 100.0 0.0 100. 88,235. 7|7 2 7 7 v Mk
152.0 109 152. 10. 00 3. 50
Koy R Ry 6. 50 3. 50 2.00 100.0 0.0 100. 88,335. 7|7 2 7 7 )L Mk
152. 2 2 152. 6. 50 3. 50
Koy RR oy 6. 50 3. 50 2.00 100.0 0.0 100. 88,435. 7|7 2 7 7 )L MajiidE
152. 3 2 152. 6. 50 3. 50
Koy R Ry 6. 50 3. 50 2.00 100.0 0.0 100. 88,535. 7|7 2 7 7 )L ek
152.3 102 152. 6. 50 3. 50
Koy R Ry 6. 50 3. 50 2.00 100.0 0.0 100. 88, 635. 7|7 2 7 7 )L ek
152. 4 97 152. 6. 50 3. 50
Koy R KRy 6. 50 3. 50 2.00 100.0 0.0 100. 88,735. 7|7 2 7 7 v Mk
152.5 97 152. 6. 50 3. 50
Koy R KRy 6. 50 3. 50 2.00 100.0 0.0 100. 88,835. 7|7 2 7 7 )L Mk
152. 7 2 152. 6. 50 3. 50
Koy R Ry 7.02 3. 64 2.00 100.0 0.0 100. 88,935. 7|7 2 7 7 L Mk
152. 8 0 152. 7.07 3. 64
Koy R KRy 6.98 2.83 0. 00 100.0 0.0 100. 89, 035. 7|7 2 7 7 )L MajiidE
152.9 0 153. 8. 09 2.03
Koy R Ry 6. 96 2.01 0.98 100.0 0.0 100. 89, 135. 7|7 2 7 7 /v Mk
153.0 0 153. 6.95 2.97
Koy R R 6.98 3.00 0. 00 100.0 0.0 100. 89, 235. 7|7 2 7 7 )L ik
153. 1 0 153. 6. 89 4,64
Koy R KRy 7.01 2.02 0.94 100.0 0.0 100. 89, 335. 7|7 2 7 7 )L MajiidE
153.2 0 153. 6.99 1.90
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Koy R KRGy 6.96 2.02 0.92 100.0 0.0 100. 89, 435. 7|7 2 7 7 )L Mk
153.3 0 153. 7.00 1.91 1.

Koy R Ry 6.97 2.71 0. 90 1. 100. 0.0 100. 89, 535. 7|7 2 7 7 )L MajiidE
153. 4 0 153. 7.05 4,11 0.

Koy R Ry 9. 56 1.93 0.52 1. 100. 0.0 100. 89, 635. 7|7 2 7 7 )L ik
153.5 0 153. 7.00 2.09 0.

Koy R Ry 6.95 2.53 0.91 0. 100. 0.0 100. 89, 735. 7|7 2 7 7 )L Mk
153. 6 0 153. 6.99 2.76 0.

Koy RR oy 9.03 2.54 0. 00 1. 100. 0.0 100. 89, 835. 7|7 2 7 7 )L ik
153.7 0 153. 9.01 4,74 4,

Koy R Ry 7.57 2.42 0.87 1. 100. 0.0 100. 89, 935. 7|7 2 7 7 )L Mk
153. 8 0 153. 6.99 3.39 1.

Koy R Ry 6.99 2. 50 0.90 100. 0.0 100. 90, 035. 7|7 2 7 7 )L MajiidE
153.9 0 154. 7.02 2.53

Koy R KRy 6.98 1.92 0.88 100. 0.0 100. 90, 135. 7|7 2 7 7 )L MajiidE
154. 0 0 154. 7.02 2.98

Koy R KRy 9. 47 2.98 0.55 100. 0.0 100. 90, 235. 7|7 2 7 7 v NajiidE
154. 1 0 154. 7.00 2.49

Koy R Ry 7.01 2.38 0.99 100. 0.0 100. 90, 335. 7|7 2 7 7 )L MajidE
154. 2 0 154. 7.07 1.88

Koy R KRy 6.97 4,24 0.99 100. 0.0 100. 90, 435. 7|7 2 7 7 /v MajiidE
154. 3 0 154. 7.03 1.90

Koy R Ry 7.12 2.51 0.86 100. 0.0 100. 90, 535. 7|7 2 7 7 )L NajiidE
154. 4 0 154. 7.42 3.06

Koy R R 10. 86 0. 00 0. 00 100. 0.0 100. 90, 635. 7|7 2 7 7 )L NajiidE
154.5 0 154. 10. 97 0. 00

Koy R KRy 7.38 2.03 0.92 100. 0.0 100. 90, 735. 7|7 2 7 7 )L MajidE
154. 6 0 154. 7.03 4.19
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Koy R KRGy 6.98 2.09 0.98 1.48 100.0 0.0 0.0 100.0| 90, 835. 7|7 2 7 7 /L sk
154. 7 0~ 154.8 0 6.99 2. 80 1.53
Koy R Ry 6.98 2.13 0.98 1.45 100.0 0.0 0.0 100.0| 90, 935. 7|7 2 7 7 /L Méfidk
154. 8 0~ 154.9 0 6.99 3. 20 1.48
Koy W Ry h 7.01 3.01 0.96 0. 00 100.0 0.0 0.0 100.0|  91,035. 7|7 2 7 7 /L Mfidk
154. 9 0~ 155.0 0 6.99 3.59 0.00
Koy R Ry 7.00 2.91 0.99 1.26 100.0 0.0 0.0 100.0| 91, 135. 7|7 2 7 7 /L Mafidk
155. 0 0~ 155.1 0 7.10 3.65 1.07
Koy BRIy H 8.02 3.10 0. 00 1.01 100.0 0.0 0.0 100.0|  91,235. 7|7 2 7 7 /L Mfidk
155. 1 0~ 155.2 0 7.03 3.63 0.97
Koy R Ry 7.00 2.69 0.98 0.95 100.0 0.0 0.0 100.0| 91,335, 7|7 2 7 7 /L Mfidk
155. 2 0~ 155.3 0 6.99 3.61 1. 00
Koy R Ry 6.97 2.13 0.97 1.03 100.0 0.0 0.0 100.0| 91,435, 7|7 2 7 7 /L Mfidk
155. 3 0~ 155.4 0 7.03 5. 08 1.12
Koy R KRy 7.00 3. 44 1. 02 1.04 100.0 0.0 0.0 100.0|  91,535. 7|7 2 7 7 /L Mfidk
155. 4 0~ 155.5 0 7.01 5.81 1.13
Koy R KRy 6.97 3.20 0.97 3.10 100.0 0.0 0.0 100.0|  91,635. 7|7 2 7 7 /L Mfidk
155.5 0~ 155.6 0 7.02 2.78 0.96
Koy R Ry 7.02 1.68 0.58 1.01 70.0 0.0 0.0 70.0| 91, 705. 7|7 A7 7L Nf%E
155. 6 0~ 155.6 70 9.24 2.53 0.99
Koy R KRy 10. 23 3. 40 0.88 1.04 0.0 0.0 50. 0 50.0| 91, 755. 7|7 A 7 7 /L Nk
155. 6 70 ~  155.7 20 6.99 3.41 0. 86
Koy R Ry 7.01 3.27 0.90 1.67 80. 0 0.0 0.0 80.0| 91,835.7|7 &2 7 7 /L Mfidk
155. 7 20 ~  155.8 0 7.00 3.37 1.35
Koy R R 7.01 3.27 0.90 1.67 100.0 0.0 0.0 100.0|  91,935. 7|7 2 7 7 /L sk
155. 8 0~ 155.9 0 7.00 3.37 1.35
Koy R KRy 7.00 3.18 0.94 2.13 78.0 0.0 0.0 78.0| 92,013.7|7 A7 7L Nf%E
155.9 0~ 155.9 78 7.00 2.79 1.52




It

P
R
R4 2 0010 BliE
£ (BB o, BT OMD m HENNIE R P& 1 O FEIA
HoOE B PER S
m
KoKy 7.01 3. 1.03 0.0 137. 92, 150. 7|7 2 7 7 /v NajidE
155. 9 156. 7.03 3.
Koy R Ry 7.01 3. .03 85. 85. 92,235. 7|7 2 7 7 v ik
156. 1 156. 7.03 3.
Koy R Ry 7.05 2. .00 100. 100. 92,335. 7|7 2 7 7 v ik
156. 2 156. 7. 80 2.
Koy R Ry 7.03 2. .52 100. 100. 92, 435. 7|7 2 7 7 )L ik
156. 3 156. 7.00 2.
Koy RR oy 7.01 1. .92 100. 100. 92,535. 7|7 2 7 7 v MajiidE
156. 4 156. 7.01 2.
Koy R Ry 7.02 0. .91 100. 100. 92,635. 7|7 2 7 7 )L NajiidE
156.5 156. 7.00 2.
Koy R Ry 7.02 1. .50 100. 100. 92,735. 7|7 2 7 7 v ik
156. 6 156. 10. 01 3.
Koy R KRy 9.82 1. .68 100. 100. 92,835. 7|7 2 7 7 )L Mk
156. 7 156. 7.00 2.
Koy R KRy 7.00 2. .00 100. 100. 92,935. 7|7 2 7 7 )L MajidE
156. 8 156. 7.00 2.
Koy R Ry 7.00 2. .00 100. 100. 93,035. 7|7 2 7 7 )L MajiidE
156. 9 157. 7.00 2.
Koy R KRy 7.00 2. .00 100. 100. 93, 135. 7|7 2 7 7 v MajiidE
157.0 157. 7.00 2.
Koy R Ry 7.00 2. .00 100. 100. 93,235. 7|7 2 7 7 v MaiidE
157. 1 157. 7.00 2.
KA LRSS 7.00 2. .00 100. 100. 93,335. 7|7 2 7 7 /L Mtk
157.2 157. 7.00 2.
Koy R KRy 7.00 2. .00 100. 100. 93,435. 7|7 2 7 7 )L MajiidE
157.3 157. 7.00 2.
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Koy R KRGy 7. 2.70 0. 00 100.0 0. 100. 93,535. 7|7 2 7 7 )L MajiidE
157. 4 0 157. 0 7. 2.00

Koy R Ry 7. 3.00 0. 50 100. 0. 100. 93,635. 7|7 2 7 7 )L ik
157.5 0 157. 0 7. 3. 00

Koy R Ry 9. 2.54 4,68 0. 100. 0. 100. 93,735. 7|7 2 7 7 v Mk
157. 6 0 157. 0 8. 3.03 0.

Koy R Ry 7. 2.22 13. 00 1. -594. 691. 97. 93,832. 7|7 2 7 7 v Mk
157. 7 0 157. 97 7. 3. 40

Koy W Ry h 7. 2.00 1. 50 0. 100. 0. 100. 93,932. 7|= > 7 U — h&hdk
157. 7 97 157. 88 7. 2.00 0.

Koy W Ry h 7. 2.00 1. 50 0. 100. 0. 100. 94,032. 7|= > 7 U — b&hdk
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